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 (Algebraic expression) 2x, 2x + 3y, 6x + 4y
2



x a, ax + b, ax2 
+ bx + c x 



i.  P(x) x − a P(a) 

ii.  P(x) ax + b P 




− 

b

a
  

 iii. P(a) = 0 (x − a) P(x) 

vi.  P(x)  x − a P(a) = 0 



(Homogeneous Polynomial)  

(Symmetric)  

 

 ab + bc + ca a, b, c x2 
+ y2 

+ z2 
+ xy + yz + zx x, y, z 

(Cxclic) 

 

x2 
+ y2 

+ z2 x y, y z z x y2 + z2 + x2



a − b b − c c − a

k (a + b + c) k (a2 
+ b2 

+ c2) + m (ab + bc + ca) k  m 

 (Rational Fractions) 

 
x

(x −1) (x − 5)
 

x
2 
+ 1

(x + 8) (x
2 
+ 5x + 7)

i. a
2
 (b − c) + b

2
 (c − a) + c

2
 (a − b) = − (a − b) (b − c) (c − a) 

 ii. bc (b − c) + ca (c − a) + ab(a − b) = −(a − b)(b − c)(c − a) 

 iii.  a (b
2 
− c

2
) + b(c

2 
− a

2
) + c (a

2 
− b

2
) = (a − b)(b − c)(c − a) 

 iv. b
2
c

2
 (b

2 
− c

2
) + c

2
a

2
 (c

2 
− a

2
) + a

2
b

2
 (a

2 
− b

2
) = − (a − b)(b − c)(c − a) (a + b)(b + c)(c + a) 

 v. a
3
 (b − c) + b

3
 (c − a) + c

3
 (a − b) = − (a − b)(b − c)(c − a)(a + b + c) 

 vi.  (ab + bc + ca)(a + b + c) − abc = (a + b)(b + c)(c + a) 

 vii. (b + c)(c + a)(a + b) + abc = (a + b + c)(ab + bc + ca) 

 viii. (a + b + c)
3
 − a

3 
− b

3 
− c

3
 = 3(a + b)(b + c)(c + a) 

 Note :  

 (Partial Fraction)

N(x) D(x) x N(x) D(x) (Proper 

Fraction) D(x) N(x) (Improper Fraction) 







i. x ax + b = px + q x = 0 x = 1 b = q a + b = p + q a = p, b = q. 

ii. x ax
2 

+ bx + c = px
2 

+ qx + r x = 0 x = 1  x = −1 c = r a + b + c = p + q + r a − b + 

c = p − q + r; a = p, b = q, c = r. 

iii. x aox
n
 + a1x

n−1
 + ....+ an −1 x + an = pox

n
 + p1x

n−1
 + ....+ pn−1 x + pn 

ao = po, a1 = p1, ...., an−1 = pn−1, an = pn 

x

Abykxjbxi cÖkœ I mgvavb 
 

K a + b + c L xy + yz + zx

M x
2
 − y

2
 + z

2
N 2a

2
 − 5bc − c

2 

 
K, L  M 

 

a + b + c = 

xy + yz + zx = 

 x2 − y2 + z2 = x z

2a2 − 5bc − c2 = a, b, c 

(i) a + b + c = 0 a
3
 + b

3
 + c

3
 = 3abc 

 (ii) P(x, y, z) = 
x

y
 + 

y

z
 + 

z

x
 

 (iii) 
1

1 + x
 + 

2

1 + x
2 + 

4

x
4
 − 1

 
1

x − 1
 

K i  ii L ii  iii M i  iii  i, ii  iii 

(i) a + b + c = 0 

   a + b = − c 

  a3 + b3 + c3  

   = (a + b)3 −3ab (a + b) + c3  

   = (− c)3 −3ab (−c) + c3  

   = − c3 + 3ab + c3  

   = 3abc 

   =

(ii) P (x, y, z) = 
x

y
  + 

y

z
 + 

z

x
  

  x y y z z x 

(iii)  
1

x + x
  + 

2

 1 + x2 + 
4

 x4 −1
 

1

1 +x
 + 

2

 1 + x2 + 
4

 (x2) − (1)
  

  = 
1

 1 + x
 + 

2

1 + x2  + 
4

 (x2 +1) (x2 −1)
  

  = 
1

 1 + x
  + 

2(x2 −1) + 4

 (x2 +1) (x2 −1)
  

  = 
1

 1 + x
  + 

2x2 −2 + 4

 (x2 + 1) (x2 − 1)
  

  = 
1

1 + x
  + 

2

(x + 1) (x − 1)
  

  = 
x − 1 + 2

 (x +1) (x − 1)
 = 

(x +1)

 (x + 1) (x −1)
 = 

1

 x − 1
 

x
3
 + px

2
 − x − 7 x + 7

p 

K − 7  7 M

54

7
 N 477 

K (x − 1)(x − 1) L (x + 1)(x − 2)

M (x − 1)(x + 3)  (x + 1)(x − 1) 

x
4
 − 5x

3
 + 7x

2
 − a x − 2 

a = 4

P(x) = x
4
 − 5x

3
 + 7x

2
 − a 

(x − 2), P(x) P(2) = 0

P(2) = 24 − 5. 23 + 7. 22 − a 

 = 16 − 40 + 28 − a 

 = 4 − a 

P(2) = 0 

4 − a = 0 

  a = 4  

P(x) = x
n
 − a

n
n a

(x − a) Q(x)

P(x) = (x − a) Q(x)  

P(x) = x
n
 − a

n

P(x) (x − a) P(a) 

 P(a) = an − an = 0

P(x) (x − a) 

 (x − a), P(x) 

(x − a), P(x) 

 P(x) = xn − an 

 = xn − xn − 1 a + xn − 1a − xn − 2 a2 + xm − 2 a2 − xn − 3 a3 + 

............... + x.an − 1 − an 





 = xn − 1(x − a) + xn − 2 a(x − a) + xn − 3 a2 (x − a) + 

...........+ an − 1(x − a) 

 = (x − a)(xn − 1 + xn − 2 + xn − 3 a2 + ..........+ an − 1) 

P(x) = (x − a) Q(x) 

  Q(x) = xn − 1 + xn − 2 a + xn − 3 a2 +.........+ an − 1 (Ans.)

n (x + a)

Q(x) P(x) = (x + a) Q(x)  

P(x) = xn − an

n n = 2k K

 P(x) = x2k − a2k

P(x) (x + a) P(−a) 

 P(−a) = (−a)2k − a2k 

  = a2k − a2k = 0 

P(x) (x + a) 

 (x + a), P(x) 

 P(x) = xn − an 

 = xn + xn − 1. a − xn − 1 . a + xn − 2 . a2 − xn − 2 .  

a2 + ................+ xan − 1 − an 

 = x
n 

− 1 (x + a) − xn − 2 . a(x + a) + xn − 3 .  

a2(x + a) − .......... − an − 1(x + a) 

 = (x + a) (xn − 1 − xn − 2 a + xn − 3 a2 − ........... − an − 1) 

  P(x) = (x + a) Q (x) 

  Q(x) = xn − 1 − xn − 2.  a + xn − 3. a2 − ...........+ (−1)n − 1. an − 1    (Ans.) 

P(x) = x
n
 + a

n
n a

n (x + a)

Q(x)

P(x) = (x + a) Q(x)  

P(x) = x
n
 + a

n 

n n = 2k + 1 k

 P(x) = x2k + 1 + a2k + 1 

P(x) x + a P(−a) 

 P(−a) = (−a)2k + 1 + a2k + 1 

  = − a2k + 1 + a2k + 1 

  = 0 

P(x) P(x + a) 

 (x + a), P(x) 

 P(x) = xn + an 

 = xn + xn − 1. a − xn − 1. a − xn − 2. a2 + xn − 2. a2 + xn − 3 

. a3 −................. + xan − 1 + an 

  = xn  − 1(x + a) − xn − 2. a (x + a) + xn − 3.a2(x + a) − ......+ an − 1(x + a) 

  = (x + a) (xn − 1 − xn − 2. a + xn − 3. a2 − ..............(−1)n−1an−1 

  P(x) = (x + a) Q(x) 

  Q(x) = xn − 1 − axn − 2 + a2 xn − 3 − ......... +(−1)n − 1 an − 1 (Ans.) 

P(x) = ax5 + bx4 + cx3 + cx2 + bx + a a, 

b, c a  0, (x − r) P(x)

P(x) (rx − 1)  

P(x) = ax5 + bx4 + cx3 + cx2 + bx + a........ (i) 

[ a, b, c a  0] 

(x − r) P(x) P(r) = 0

P(r) ar
5
 + br

4
 + cr

3
 + cr

2
 + br + a 

 ar
5
 + br

4
 + cr

3
 + cr

2
 + br + a = 0 ......... (ii) 

 rx − 1 = 0 

 rx  = 1

 x = 
1

r
 

P 



1

r
 =  a



1

r
 
5
 + b



1

r

4
 + c



1

r
 
3
 + c



1

r
 
2
 + b



1

r
 + a 

 = 
a

r
5 +  

b

r
4 + 

c

r
3 + 

c

r
2 + 

b

r
 + a 

 = 
a + br + cr

2
 + cr

3
 + br

4
 + ar

5

r
5  

 = 
0

r
5       [(ii)  

0 

(i) x = 
1

r

(rx − 1)

 (rx − 1)  P(x)  

 

(i) x
4
 + 7x

3
 + 17x

2
 + 17x + 6

P(x) = x
4
 + 7x

3
 + 17x

2
 + 17x + 6 

 P( − 1) = ( − 1)
4
 + 7( − 1)

3
 + 17 ( − 1)

2
 + 17 ( − 1) + 6 

 = 1 − 7 + 17 − 17 + 6 

 = 24 − 24 

 = 0 

(x + 1), P(x)

x
4
 + 7x

3
 + 17x

2
 + 17x + 6 

 = x
4
 + x

3
 + 6x

3
 + 6x

2
 + 11x

2
 + 11x + 6x + 6 

 = x
3
(x + 1) + 6x

2
(x + 1) + 11x(x + 1) + 6(x + 1) 

 = (x + 1)(x
3
 + 6x

2
 + 11x + 6) 

 = (x + 1)(x
3
 + 6x

2
 + 12x + 8 − x − 2) 

 = (x + 1)(x
3
 + 3.x

2
.2 + 3.x.2

2
 + 2

3
 − x − 2) 

 = (x + 1){(x + 2)
3
 − 1(x + 2)} 

 = (x + 1) (x + 2) {(x + 2)2 − 1} 

 = (x + 1)(x + 2)(x + 2 + 1)(x + 2 − 1) 

 = (x + 1)(x + 2)(x + 3)(x + 1) 

 = (x + 1)
2
(x + 2)(x + 3) (Ans.) 

(ii) 4a
4
 + 12a

3
 + 7a

2
 − 3a − 2 

P(a) = 4a4 + 12a3 + 7a2 − 3a − 2 

 P( − 1) = 4( − 1)4 + 12( − 1)3 + 7( − 1)2 − 3( − 1) − 2 

  = 4 − 12 + 7 + 3 − 2 

  = 14 − 14 

  = 0 

(a + 1), P(a)-





4a
4
 + 12a

3
 + 7a

2
 − 3a − 2 

 = 4a
4
 + 4a

3
 + 8a

3
 + 8a

2
 − a

2
 − a − 2a − 2 

 = 4a
3
 (a + 1) + 8a

2
 (a + 1) − a (a + 1) − 2(a + 1) 

 = (a + 1)(4a
3
 + 8a

2
 − a − 2) 

 = (a + 1){4a
2
 (a + 2) − 1(a + 2)} 

 = (a + 1)(a + 2)(4a
2
 − 1) 

 = (a + 1)(a + 2){(2a)
2
 − 1} 

 = (a + 1)(a + 2)(2a + 1)(2a − 1) 

 = (2a − 1)(a + 1)(a + 2)(2a + 1) (Ans.) 

(iii) x
3
 + 2x

2
 + 2x + 1 

P(x) = x
3
 + 2x

2
 + 2x + 1 

  P( − 1) = ( − 1)3 + 2 ( − 1)2 + 2( − 1) + 1 

  = − 1 + 2 − 2 + 1 

  = 3 − 3 

  = 0 

(x + 1), P(x)

x
3
 + 2x

2
 + 2x + 1 

  = x
3
 + x

2
 + x

2
 + x + x + 1 

  = x
2
 (x + 1) + x(x + 1) + 1(x + 1) 

  = (x + 1)(x
2
 + x + 1) (Ans.) 

(iv) x(y2 + z2) + y (z2 + x2) + z(x2 + y2) + 3xyz 

 = x(y2 + z2) + y(z2 + x2) + z(x2 + y2) + 3xyz 

 = xy2 + z2x + yz2 + x2y + zx2 + y2z + 3xyz 

 = x2y + xy2 + xyz + xyz + y2z + yz2 + zx2 + xyz + z2x 

 = xy(x + y + z) + yz (x + y + z) + zx(x + y + z) 

 = (x + y + z)(xy + yz + zx) (Ans.) 

(v) (x + 1)
2
(y − z) + (y + 1)

2
(z − x) + (z + 1)

2
(x − y) 

(x + 1)2 (y − z) + (y + 1)2 (z − x) + (z + 1)2 (x − y) 

= (x2 + 2x + 1)(y − z) + (y2 + 2y + 1)(z − x) + (z2 + 2z + 1)(x − y) 

= x2(y − z) + y2(z − x) + z2(x − y) + 2x(y − z)  

+ 2y(z − x) + 2z(x − y) + (y − z + z − x + x − y) 

= x2(y − z) + y2(z − x) + z2(x − y) +  

2(xy − zx + yz − xy + zx − yz) + 0 

= x2(y − z) + y2(z − x) + z2(x − y) + 2  0 

= x2(y − z) + y2z − xy2 + z2x − yz2

= x2(y − z) + yz(y − z) − x(y2 − z2) 

= (y − z) {x2 + yz −x(y + z)} 

= (y − z)(x2 + yz − xy − zx) 

= (y − z)(x2 − xy − zx + yz) 

= (y − z) {x(x − y) − z(x − y)} 

= (y − z)(x − y)(x − z) 

= (y − z)(x − y){ − (z − x)} 

= − (x − y)(y − z)(z − x) (Ans.) 

(vi) b
2
c

2
(b

2
 − c

2
) + c

2
a

2
(c

2
 − a

2
) + a

2
b

2
(a

2
 − b

2
) 

b
2
c

2
(b

2
 − c

2
) + c

2
a

2
(c

2
 − a

2
) + a

2
b

2
(a

2
 − b

2
) 

 = b
2
c

2
(b

2
 − c

2
) + c

4
a

2
 − c

2
a

4
 + a

4
b

2
 − a

2
b

4
 

 = b
2
c

2
(b

2
 − c

2
) + a

4
b

2
 − c

2
a

4
 − a

2
b

4
 + c

4
a

2
 

 = b
2
c

2
(b

2
 − c

2
) + a

4
(b

2
 − c

2
) − a

2
(b

4
 − c

4
) 

 = (b
2
 − c

2
){(b

2
c

2
 + a

4
 − a

2
(b

2
 + c

2
)} 

 = (b
2
 − c

2
)(b

2
c

2
 + a

4
 − a

2
b

2
 − c

2
a

2
) 

 = (b2 − c2){a2(a2 − b2) − c2(a2 − b2)} 

 = (b2 − c2)(a2 − b2)(a2 − c2) 

 = (b2 − c2)(a2 − b2){ − (c2 − a2)} 

 = − (a2 − b2)(b2 − c2)(c2 − a2)  

 = − (a − b)(b − c)(c − a) (a + b)(b + c)(c + a) (Ans.) 

1

a
3 + 

1

b
3 + 

1

c
3 = 

3

abc

bc + ca + ab = 0 a = b = c 

1

a
3 + 

1

b
3 + 

1

c
3 = 

3

abc
 

  
1

a
3 + 

1

b
3 + 

1

c
3 − 3.

1

a
. 

1

b
.
1

c
 = 0 

   
1

2
 



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

  



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

  
1

a
 + 

1

b
 + 

1

c
 = 0

  
bc + ca + ab

abc
 = 0 

 bc + ca + ab = 0 





1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0





1

a
 − 

1

b
2
 = 0 

  
1

a
 − 

1

b
 = 0 

   
1

a
 = 

1

b
 

  a = b 

b = c c = a 

  a = b = c 

 bc + ca + ab = 0 a = b = c  

x = b + c − a, y = c + a − b z = a + b − c

x3 + y3 + z3 − 3xyz = 4(a3 + b3 + c3 − 3abc) 

   x
3
 + y

3
 + z

3 
− 3xyz 

= 
1

2
 (x + y + z){(x − y)

2
 + (y − z)

2
 + (z − x

2
)} 

= 
1

2
 (b + c − a + c + a − b + a + b − c){(b + c − a − c − a + b)

2
 +  





   (c + a − b − a − b + c)
2
 + (a + b − c − b − c + a)

2
  

[x, y, z

= 
1

2
(a + b + c){(2b − 2a)

2
 + (2c − 2b)

2
 + (2a − 2c)

2
} 

= 
1

2
(a + b + c)[{ − 2(a − b)}

2
 + { − 2(b − c)}

2
 + { − 2(c − a)}

2
]

= 
1

2
(a + b + c){ 4(a − b)

2
 + 4(b − c)

2
 + 4(c − a)

2
}

= 4.
1

2
(a + b + c){(a − b)

2
 + (b − c)

2
 + (c − a)

2
} 

= 4(a
3
 + b

3
 + c

3
 − 3abc) 

 x
3
 + y

3
 + z

3
 − 3xyz = 4(a

3
 + b

3
 + c

3
 − 3abc) 

 

(a)
a

2

(a − b)(a − c)
 + 

b
2

(b − c)(b − a)
 + 

c
2

(c − a)(c − b)
 

    
a

2

(a − b)(a − c)
 + 

b
2

(b − c)(b − a)
 + 

c
2

(c − a)(c − b)
  

=
a

2

−(a − b)(c − a)
 + 

b
2

−(b − c)(a − b)
 + 

c
2

−(c − a)(b − c)
 

= 
a

2
(b − c) − b

2
(c − a) + c

2
(a − b)

− (a − b)(b − c)(c − a)
 

a2(b − c) + b2 (c − a) + c2(a − b) = − (a − b) (b − c) (c − a) 

 = 
− (a − b)(b − c)(c − a)

− (a − b)(b − c)(c − a)
 = 1 (Ans.) 

(b) 
a

(a − b)(a − c)(x − a)
 + 

b

(b − a)(b − c)(x − b)
  

+ 
c

(c − a)(c − b)(x − c)
 

 
a

(a − b)(a − c)(x − a)
 + 

b

(b − a)(b − c)(x − b)
 + 

c

(c − a)(c − b)(x − c)
 

= 
a

− (a − b)(c − a)(x − a)
 + 

b

− (a − b)(b − c)(x − b)
  

+ 
c

− (c − a)(b − c)(x − c)
 

= 
− a

(a − b)(c − a)(x − a)
 − 

b

(a − b)(b − c)(x − b)
 − 

c

(c − a)(b − c)(x − c)
 

= 
− a(b − c)(x − b)(x − c) − b (c − a)(x − a)(x − c) − c(a − b)(x − a)(x − b)

(a − b)(b − c)(c − a) (x − a) (x − b)(x − c)
 

= − a(b − c)(x
2
 − bx − cx + bc) − b(c − a) 

(x
2
 − ax − cx + ca) − c(a − b)(x

2
 − ax − bx + ab) 

= − a(b − c) {x
2
 − (b + c) x + bc} − b(c − a){x

2
 − x(c + a) + ca}  

− c(a − b){x
2
 − x(a + b) + ab} 

= − ax
2
(b − c) + a(b − c)(b + c) x − abc (b − c)  

− bx
2
 (c − a) + b(c − a)(c + a) x − abc(c − a) − cx

2
(a − b)  

+ c(a − b)(a + b)x − abc (a − b) 

= − x
2
{a(b − c) + b(c − a) + c(a − b)} + x {a(b

2
 − c

2
)  

+ b (c
2
 − a

2
) + c(a

2
 − b

2
)} − abc (b − c + c − a + a − b) 

= − x
2
(ab − ca + bc − ab + ca − bc) + x (a − b) 

(b − c)(c − a) − abc  0 

= − x2  0 + x 

= x(a − b)(b − c)(c − a) 

 
x(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)(x − a)(x − b)(x − c)
 

 = 
x

(x − a)(x − b)(x − c)
 (Ans.) 

(c) 
(a + b)

2
 − ab

(b − c)(a − c)
 + 

(b + c)
2
 − bc

(c − a)(b − a)
 + 

(c + a)
2
 − ca

(a − b)(c − b)
 

 
(a + b)

2
 − ab

(b − c)(a − c)
 + 

(b + c)
2
 − bc

(c − a)(b − a)
 + 

(c + a)
2
 − ca

(a − b)(c − b)

= 
a

2
 + 2ab + b

2
 − ab

− (b − c)(c − a)
 + 

b
2
 + 2bc + c

2
 − bc

− (c − a)(a − b)
 + 

c
2
 + 2ca + a

2
 − ca

−(a − b)(b − c)
 

= 
(a − b)(a

2
 + ab + b

2
) + (b − c)(b

2
 + bc + c

2
) + (c − a)(c

2
 + ca + a

2
)

−(a − b)(b − c)(c − a)
 

= 
(a

3
 − b

3
) + (b

3
 − c

3
) + (c

3
 − a

3
)

−(a − b)(b − c)(c − a)
 

= 
a

3
 − b

3
 + b

3
 − c

3
 + c

3
 − a

3

(a − b)(b − c)(c − a)
 

= 
0

(a − b)(b − c)(c − a)
 

= 0 (Ans.) 

(d) 
1

1 + x
 + 

2

1 + x
2 + 

4

1 + x
4 + 

8

1 + x
8 + 

16

x
16

 − 1
 

1

1 + x
 + 

2

1 + x
2 + 

4

1 + x
4 + 

8

1 + x
8 + 

16

x
16

 − 1
 

= 




1

1 + x
 − 

1

x − 1
 + 

2

x
2
+ 1

 + 
4

 x
4
 + 1

 + 
8

 x
8
 + 1

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
x − 1 − x − 1

(x + 1)(x − 1)
 + 

2

x
2
 + 1

 + 
4

 x
4
 + 1

 + 
8

 x
8
 + 1

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
− 2

x
2
 − 1

 + 
2

 x
2
 + 1

 + 
4

 x
4
 + 1

 + 
8

 x
8
 + 1

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
− 2x

2
 − 2 + 2x

2
 − 2

(x
2
 + 1)(x

2
 − 1)

 + 
4

 x
4
 + 1

 + 
8

 x
8
 + 1

 + 
16

x16 − 1
 + 

1

x − 1
 

= 
 − 4

 x
4
 − 1

 + 
4

 x
4
 + 1

 + 
8

 x
8
 + 1

 + 
16

x16 − 1
 + 

1

x − 1
 

= 
− 4x

4
 − 4 + 4x

4
 − 4

(x
4
 − 1)(x

4
 + 1)

 + 
8

 x
8
 + 1

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
− 8

 x
8
 − 1

 + 
8

 x
8
 + 1

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
− 8x

4
 − 8 + 8x

8
 − 8

(x
8
 + 1)(x

8
 − 1)

 + 
16

x
16

 − 1
 + 

1

x − 1
 

= 
−16

x
16

 − 1
 + 

16

x16 − 1
 + 

1

x − 1
 

= 
1

x − 1
 (Ans.) 





(a) 
5x + 4

x(x + 2)
 

 
5x + 4

x(x + 2)
 ≡ 

A

x
 + 

B

x + 2
 .......... (i) 

 (i) x(x + 2) 

5x + 4 ≡ A(x + 2) + B(x) ............. (ii) 

 (ii) x = 0 

5.0 + 4 = A(0 + 2) + B  0 

 4 = 2A 

2A = 4 

 A = 2 

 (ii) x = −2 

5.( − 2) + 4 = A(− 2 + 2) + B ( − 2) 

− 2B = −6 

 B = 3 

A B i −

5x + 4

x(x + 2)
 = 

2

x
 + 

3

x + 2
;   

(b) 
x + 2

x
2
 − 7x + 12

 

x + 2

x
2
 − 7x + 12

 = 
x + 2

x
2
 − 4x − 3x + 12

 

 = 
x + 2

x(x − 4) − 3(x − 4)
 

 = 
(x + 2)

(x − 3)(x − 4)
 

(x + 2)

(x − 3)(x − 4)
 ≡ 

A

x − 3
 + 

B

(x − 4)
 ........... (i) 

 (i) (x − 3)(x − 4)

x + 2 ≡ A(x − 4) + B(x − 3) ............... (ii) 

 (ii) x = 3

3 + 2 = A(3 − 4) + B(3 − 3) 

 − A = 5 

 A = −5 

 (ii) x = 4

4 + 2 = A(4 − 4) + B(4 − 3) 

 B = 6 

A B i −

x + 2

(x − 3)(x − 4)
 = 

− 5

x − 3
 + 

6

(x − 4)
 

 = 
6

(x − 4)
 − 

5

x − 3
 ;  

(c) 
x

2
 − 9x − 6

x(x − 2)(x + 3)
 

x
2
 − 9x − 6

x(x − 2)(x + 3)
 ≡ 

A

x
 + 

B

x − 2
 + 

C

x + 3
 .......... (i) 

 (i) x (x − 2)(x + 3) 

x
2
 − 9x − 6 ≡ A(x − 2)(x + 3) + B.x(x + 3) + C.x (x − 2)  

 ............ (ii) 

 (ii) x = 0 

(0)
2
 − 9.0 − 6 = A(0 − 2)(0 + 3) + B.0(0 + 3) + C.0 (0 − 2) 

 − 6 = − 6A 

 A = 1 

 A = 1 

ii x = 2

2
2
 − 9.2 − 6 = A(2 − 2)(2 + 3) + B.2 (2 + 3) + C.2 (2 − 2) 

4 − 18 − 6 = 10B 

 10B = − 20 

 B = − 2 

ii x = −3

( − 3)
2
 − 9( − 3) − 6 = A( − 3 − 2)( − 3 + 3) + B (− 3 )( − 3 + 3) 

+ C( − 3)( − 3 − 2) 

 9 + 27 − 6 = 0 + 0 + 15C 

 15C = 30 

 C = 2 

A, B C i −

x
2
 − 9x − 6

x(x − 2)(x + 3)
 = 

1

x
 − 

2

x − 2
 + 

2

x + 3
 ;  

(d) 
x

2
 − 4x − 7

(x + 1)(x
2
 + 4)

 

x
2
 − 4x − 7

(x + 1)(x
2
 + 4)

 ≡ 
A

x + 1
 + 

Bx + C

x
2
 + 4

     (i) 

 (i) (x + 1)(x
2
 + 4)

x
2
 − 4x − 7 ≡ A(x

2
 + 4) + (Bx + C)(x + 1)     (ii) 

 (ii) x = − 1

(− 1)2 − 4(− 1) − 7 = A{(− 1)
2
 + 4} + {B(− 1) + C} (− 1 + 1) 

 1 + 4 − 7 = 5A 

 5 − 7 = 5A 

 − 2 = 5A 

 A = − 
2

5

ii x2 x

A + B = 1 ............. (iii) 

B + C = −4........ (iv) 

 (iii)− A = − 
2

5

−2

5
 + B = 1 

B = 1 + 
2

5
 

 B = 
7

5
 

(iv)− B = 
7

5

7

5
 + C = − 4 





 C = − 4 − 
7

5
 

 C = 
− 20 − 7

5
 

 C = 
−27

5
 

 (i) A, B C 

x2 − 4x − 7

(x + 1)(x2 + 4)
 = 

−2

 5

x + 1
 + 

7

5
 x − 

27

5

x2 + 4
= 

1

5
 




−2

x + 1
 + 

7x − 2

x2 + 4
 

 
x2 − 4x − 7

(x + 1)(x2 + 4)
 

1

5
 




7x − 27

x2 + 4
 − 

2

x + 1
;  

(e) 
x

2

(2x + 1)(x + 3)
2 

x
2

(2x + 1)(x + 3)
2 ≡ 

A

2x + 1
 + 

B

x + 3
 + 

C

(x + 3)
2 ................... (i)

 (i) (2x + 1)(x + 3)
2

x
2
 ≡ A(x + 3)

2
 + B(x + 3)(2x + 1) + C(2x + 1) ......... (ii) 

 (ii) x = − 3

( − 3)
2
 = A( − 3 + 3)

2
 + B( − 3 + 3){2( − 3) + 1} + C{2(− 3) + 1} 

 9 = −5C 

 C = − 
9

5
 

 C = − 
9

5
 

(ii) x = − 
1

2





−

1

2

2

 = A



− 

1

2
 + 3

2

 + B



− 

1

2
 + 3  









2



− 

1

2
 + 1  + C 









2



− 

1

2
 + 1  

 
1

4
 = A





−1 + 6

2
2
 + B.0 + C.0 

 
1

4
 = A



5

2
2
 

 
1

4
 = A 

25

4
   

 A = 
1

25
 

(ii) x2

A + 2B = 1 

 2B = 1 − 
1

25
 

 2B =  
25 − 1

25
 

 B =  
24

25  2
 

 B =  
12

25
 

A, B C i −

x
2

(2x + 1)(x + 3)
2 = 

1

25

2x + 1
 + 

12

25

x + 3
 + 

− 9

5

(x + 3)
2  

 
x

2

(2x + 1)(x + 3)
2 = 

1

25(2x + 1)
 + 

12

25(x + 3)
 − 

9

5(x + 3)
2 ;

x P(x) = 7x
2
 − 3x + 4x

4
 − a + 12x

3 

P(x) (x + 2) a

Q(x) = 6x3 − x2 − 5x + 2 Q



1

2
 = 0 P(x)

Q(x)

P(x) = 7x
2
 − 3x + 4x

4
 − a + 12x

3 

 x x

 P(x) 4x
4
 + 12x

3
 + 7x

2
 − 3x − a 

P(x) = 7x
2
 − 3x + 4x

4
 − a + 12x

3
 

 (x + 2), P(x)– P( − 2) = 

0 

P ( − 2)  

 = 7( − 2)
2
 − 3 ( − 2) + 4( − 2)

4
 − a + 12( − 2)

3
 

 = 28 + 6 + 64 − a − 96 

 = 2 − a 

P( − 2) = 0 2 − a = 0 

  a = 2 (Ans.) 

Q(x) = 6x
3
 − x

2
 − 5x + 2

Q



1

2
 = 0, (2x − 1), Q(x) 

Q(x) = 6x
3
 − x

2
 − 5x + 2 

= 6x
3
 − 3x

2
 + 2x

2
 − x − 4x + 2 

   = 3x
2
(2x − 1) + x(2x − 1) − 2(2x − 1) 

   = (2x − 1)(3x
2
 + x − 2) 

   = (2x − 1)(3x
2
 + 3x − 2x − 2) 

   = (2x − 1) {3x(x + 1) − 2(x + 1)} 

   = (2x − 1)(x + 1)(3x − 2) 

P(x) = 7x
2
 − 3x + 4x

4
 − a + 12x3 

   = 4x
4
 + 12x

3
 + 7x

2
 − 3x − 2       [ a = 2] 

   P( − 1) = 4( − 1)
4
 + 12( − 1)

3
 + 7( − 1)

2
 − 3 ( − 1) − 2 

   = 4 − 12 + 7 + 3 − 2 

   = 14 − 14 

   = 0 

  (x + 1), P(x) 

4x
4
 + 12x

3
 + 7x

2
 − 3x − 2 

 = 4x
4
 + 4x

3
 + 8x

3
 + 8x

2
 − x

2
 − x − 2x − 2 

 = 4x
3
(x + 1) + 8x

2
(x + 1) − x(x + 1) − 2 (x + 1) 

 = (x + 1)(4x
3
 + 8x

2
 − x − 2) 

 = (x + 1){4x
2
(x + 2) − 1(x + 2)} 

 = (x + 1)(x + 2)(4x
2
 − 1) 





 = (x + 1)(x + 2){(2x)
2
 − 1} 

 = (x + 1)(x + 2)(2x + 1)(2x − 1) 

  P(x)  Q(x) (x + 1)  (2x − 1) 

 (Ans.) 

x, y, z

F(x, y, z) = x
3
 + y

3
 + z

3
 − 3xyz

F(x, y, z)

F(x, y, z)

 F(x, y, z) = 0, (x + y + z)  0 

x
2
 + y

2
 + z

2
) = (xy + yz + zx)

x = (b + c − a), y = (c + a − b), z = (a + b − c)

F(a, b, c) : F(x, y, z) = 1 : 4

 

F(x, y, z) = x
3
 + y

3
 + z

3
 − 3xyz

x y, y z z x

 F(y, z, x) = y
3
 + z

3
 + x3 − 3y.z.x 

  = x
3
 + y

3
 + z

3
 − 3xyz 

  F(x, y, z) = F(y, z, x) = F(z, x, y) 

 

F(x, y, z)

F(x, y, z) = x
3
 + y

3
 + z

3
 − 3xyz 

 = (x + y)
3
 − 3xy(x + y) + z

3
 − 3xyz 

 = (x + y)
3 
+ z

3 
− 3xy(x + y + z) 

 = (x + y + z){(x + y)
2
 − (x + y)z + z

2
} − 3xy(x + y + z) 

 = (x + y + z)(x
2
 + 2xy + y

2
 − zx − yz + z

2
) − 3xy (x + y + z) 

 = (x + y + z)(x
2
 + 2xy + y

2
 + z

2
 − zx − yz − 3xy) 

 = (x + y + z)(x
2
 + y

2
 + z

2
 − xy − yz − zx) 

F(x, y, z) = 0 

  x3 + y3 + z3 − 3xyz = 0 

   (x + y + z)(x2 + y2 + z2 − xy − yz − zx) = 0 

  x2 + y2 + z2 − xy − yz − zx = 0 [ x + y + z  0] 

  x
2
 + y

2
 + z

2 
= xy + yz + zx   

F(x, y, z) = x
3
 + y

3
 + z

3 
− 3xyz ........ (i) 

  F(a, b, c) = a
3
 + b

3
 + c

3 
− 3abc 

  (i) 

 F(x, y, z) = x
3
 + y

3
 + z

3 
− 3xyz 

 = 
1

2
 (x + y + z){x − y)

2
 + (y − z)

2
 + (z − x)

2
}

 = 
1

2
 (b + c − a + c + a − b + a + b − c){(b + c − a − c − a  

+ b)
2
 + (c + a − b − a − b + c)

2
 + (a + b − c − b − c + a)

2
}  

[x, y, z  

1

2
 (a + b + c){(2b − 2a)

2
 + (2c − 2b)

2
 + (2a − 2c)

2
} 

1

2
 (a + b + c)[{ − 2(a − b)}

2
 + { − 2 (b − c)}

2
 + { − 2(c − a)}

2] 

1

2
 (a + b + c){4(a − b)

2
 + 4(b − c)

2
 + 4(c − a)

2
} 

 = 4.
1

2
 (a + b + c){(a − b)

2
 + (b − c)

2
 + (c − a)

2
} 

  F(x, y z) = 4(a
3
 + b

3
 + c

3
 − 3abc) 

  F(a, b, c) : F(x, y z) = (a
3
 + b

3
 + c

3
 − 3abc) : 4(a

3
 + b

3
 + c

3
 − 

3abc) 

  = 1 : 4 

  F(a, b, c) : F(x, y, z) = 1 : 4 

x (x + 3), (x
2
 − 9), (x

3
 + 27)

(x
4
 − 81)

x
3
 + 27

x
2
 − 9

 

x2 − 9

x3 + 27
 

 
x4 − 81

x3 + 27
 

x3 + 27

x2 − 9
 = 

x3 + 33

x2 − 32 

  = 
(x + 3)(x2 − x− 3 + 32)

(x + 3)(x − 3)
 

  = 
x2 − 3x + 9

x − 3
  

  = 
x(x − 3) + 9

x − 3
 

  = 
x (x − 3)

(x − 3)
 + 

9

x − 3
 = x + 

9

x − 3
 (Ans.) 

(x + 3)
1

x + 3

(x
2
 − 9)

1

x
2
 − 9

(x
4
 − 81)

1

x
4
 − 81

 

 

1

x + 3
 + 

1

x
2
 − 9

 + 
1

x
4
 − 81

 

 = 
1

x + 3
 + 

1

x
2
 − 9

 + 
1

(x
2
)

2
 − (9)

2 

 = 
1

x + 3
 + 

1

x
2
 − 9

 + 
1

(x
2
 + 9)(x

2
 − 9)

 

 = 
1

x + 3
 + 

x
2
 + 9 + 1

(x
2
 − 9)(x

2
 + 9)

 

 = 
(x − 3)(x

2
 + 9) + x

2
 + 10

(x
2
 − 9)(x

2
 + 9)

 





 = 
x

3
 + 9x − 3x

2
 − 27 + x

2
 + 10

(x
2
 − 9)(x

2
 + 9)

 

 = 
x

3
 − 2x

2
 + 9x − 17

x
4
 − 81

 (Ans.) 

(x + 1)
3
 y + (y + 1)

2
 

x x

y y

x y

(x + 1)
3
 y + (y + 1)

2

 = (x3 + 3x2 + 3x + 1) y + y2 + 2y + 1 

 = x3y + 3x2y + 3xy + y + y2 + 2y + 1 

 = x3y + 3x2y + 3xy + (y2 + 3y +1) x  

x 3

y

y
2
 + 3y + 1 

(x + 1)3y + (y + 1)
2
 

 = (x
3
 + 3x

2
 + 3x + 1) y + y

2
 + 2y + 1 

 = x
3
y + 3x

2
y + 3xy + y + y

2
 + 2y + 1 

 = y
2
 + (x

3
 + 3x

2
 + 3x + 3) y + 1; y

y 2

1

1

(x + 1)3y + (y + 1)
2
 

 = (x
3
 + 3x

2
 + 3x + 1) y + y

2
 + 2y + 1 

 = x
3
y + 3x

2
y + 3xy + y

2
 + 3y + 1;  

 x y 4 x3y

 x y 4.  

¸iæZ¡c~Y© enywbe©vPwb cÖ‡kœvËi 
 

 x6 + 3x5 + 2x4 − 5

K − 5  1 M 3 N 6 

 P(x, y) = x2 + y2 − 2xy P(1, − 2)

K 9 L 1  − 1 N − 9 

 x3 + 2x2 + 2x + a (x + 1) a

K − 5 L − 1  1 N 5 

 x4 + x3 + 7x2 − a (x − 2) a

K 44 L 48 M 50  52 

 a + b + c = 0 a3 + b3 + c3 

K 0 L (a − b) (b − c) (c − a) 

 3abc N abc 

x3 + 2x2 − ax − 6 (x + 3)

 

K − 6  1 M 2 N 3 

 a

K 13  5 M − 5 N − 17 

 

 (x + 1)  (x − 2) L (x + 1)  (x + 2) 

M (x − 1)  (x + 2) N (x − 1)  (x − 2) 

 

K a2 − b2 + c2
L a2b + ab2 + b2c 

M xy + yz − zx  x2y + y2z + z2 + x 

 A = {x : x2 − 4 = 0}, B = {x : x2 − x − 6 = 0} AB

K {− 2, − 3, 2}  {− 2} 

M {− 3} N {2} 

 2x3 + x2 + ax + 18 (x + 2) a

K − 15 L − 3  3 N 15 

 P(x, y, z) = x3 + y3 + z3 − 3xyz P(1, 1, −2)

 0 L 2 

M 4 N 16 

 x3 + y3 + z3 − 3xyz

 i. (x + y + z) (x2 + y2 + z2 − xy − yz − zx) 

ii. (x + y + z) (x2 + y2 + z2 + xy + yz + zx)

iii.
1

2
 (x + y + z) {(x − y)2 + (y − z)2 + (z − x)2} 

K i ii  i iii M ii iii N i, ii iii 

 

K p3 + p2q + q4
 p2 + pq + q2 

M p3 + 3pq + q2
N p3 + pq2 + 3q2 

 x2 + y2 + z2 + xy + yz + zx

 i.

ii.

iii.

K i ii L i iii M ii iii  i, ii iii 

 P(x) = 3x3 + 2x2 − 7x + 8 p



1

2

K

21

8


43

8
M

53

8
N

63

4
 

 
x3

x2 − 9
 





K x + 
9

x2 − 9
L x + 

x

x2 − 9
 

 x + 
9x

x2 − 9
N x + 

1

x2 − 9
 

 P(x) = 5x3 + 6x2 − ax + 6  x − 2 6

a

K 35  32 M 30 N 36 

 P(x) = 36x2 − 8x + 5  (x − 1)

K 49 L 41  33 N 23 

 y5 − 3y6 + 5y4 − 7 y-

 i. 6

ii. 3y6

iii. − 7

K i ii  i iii M ii iii N i, ii iii 

 P(x) = 2x2 − 9x + 6  (x − 4)

K 4  2 M 1 N − 2 

 (x) = x2 − 7x + 12 x (x) = 0

K − 3, − 4 L − 3, 4  3, 4 N 3, − 4 

 P(x) = 3x3 + 2x2 − 7x + 8  P(− 2)

K − 22 L − 10  6 N 10 

P(x) = 2x3 − 5x2 + 6x − 3 

 P(x)  (x − 3) 

K − 120 L − 30 M − 24  24 

 P(x)

K x − 3 L x + 1 M x − 2  x − 1 

 x

 4x4 − 5x3y2 + 7 L 5x3 + 
3

x
 + 8 

M

1

3
 x3 + 

2

x2 + 9 N 4x− 4 − 2x2 + 12 

 (x) = 2x3 + 6x2 − 6x + a, x − 1 a

 − 2 L − 1 M 1 N 2 

 P(x) = 18x3 + 15x2 − x − 2

K 2x − 1  3x − 1 M 3x + 1 N 3x − 2 

 a + b + c = 0 

 i. a3 + b3 + r3 = 3abc 

ii.
1

a
 = 

1

b
 = 

1

c
 

iii. (a + b)3 + 3abc = − c1 

 i ii L i iii M ii iii N i, ii iii 

 
AwZwi³ enywbe©vPwb cÖ‡kœvËi 

 

GK Pj‡Ki eûc`x 

   mvaviY enywbe©vPwb cÖ‡kœvËi 

 

K  M N

 

K 

M N

 

K  M N

 P(x) Q(x) x

K 

M N

 

  L  M ≡ N 

 P(x) a 

P(x) (x − a) 

 P(a) L a M

1

a
 N P



1

a
 

 P(x) = x
2
 − 5x + 6 P(x) (x − 4)

K 4  2 M 3 N x + 2 

 P(x) a  0 P(x) (ax + 

b)

K P(a)  P



− 

b

a
M P



b

a
N P 



− 

a

b
 

 Cx
p

C x
p

 L M N

 Cx
p

p

K  M N

 

 L

M N

 

K 

M N

 a
3
 + b

3
 + c

3
 − 3abc 

 (a + b + c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) 





L (a − b − c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) 

M (a + b + c)(a
2
 + b

2
 + c

2
 + ab + bc + ca) 

N (a + b + c)(a
2
 + b

2
 + c

2
 + 3abc)

 a + b + c = 0 a
3
 + b

3
 + c

3
 = 

K 3ab  3abc M abc N 3

 

 L

M N

 

 L

M N

 

 L M N

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 i.  

ii.  

iii. 

 

 i  ii L i  iii M ii  iii N i, ii iii 

 Cx
p
y

q
−

i. C x
p
y

q
 

ii. p + q  

iii. p − q

 

 i  ii  L i  iii M ii  iii N i, ii iii  

 i.  

ii. x
3
y, x y 4 

iii. 

 

K i  ii L i  iii M ii  iii  i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

P(x) = 3x
3
 + 2x

2
 − 7x + 8

 x 0 P(0)

K 4  8 M 6 N 5 

 

K 3 L 2 M 7  8 

(x − 1)
3
y + (y + 1)

2

−

 x 

 x
3
 − y − 3x

2
y + 3xy + y

2
 + y + 1 

L 3xy + 3x
2
y + 3xy + y

2

M 3x
3
y − 3x

2
y + 6xy + y

2
 + y + 1 

N 3x2y − 3xy2 + 4xy + y2 − y + 1

 x

K 3 x L 2 y 

 3 y N 3 (y2 + 3y + 1) 

 x y 

K 1 L 2 M 3  4 

`yB I wZb Pj‡Ki eûc`x 

   mvaviY enywbe©vPwb cÖ‡kœvËi 

 

 L M N

 

K  M N

 
9x

(x − 3)(x + 3)
 

 L

M N

 ax
3
 + bx

2
 + cx + d a, b, c, d

K L

M 

 x
3
 + 2x

2
 + 2x + 1

K (x − 1)(x
2
 + x + 1) L (x + 1)(x

2
 − x + 1)

 (x + 1)(x
2
 + x + 1) N (x − 1)(x

2
 − x + 1) 

 
x − 5

(x + 3)(x − 1)
    

A

x + 3
 + 

B

x − 1
 A

K − 3 L − 1 M 1  2

 −

K 

M N

 

 L M N

 

K  M N

 P(x) = 36x
2
 − 8x + 5 (2x − 1)

K P



1

2
 10 M 16 N 20 

 P(x) P(x) 2x − 1

K P(1) L P(−1)  P



1

2
N P





−1

2
 

 2x
2 
− 3x + 1

K (2x + 1)(x + 1)  (2x − 1)(x − 1) 

M (x + 1)(2x − 1) N (x − 1)(2x + 1) 





 a
3
 − 7a − 6

K (a − 1)(a − 2)(a − 3) L (a − 1)(a + 2)(a − 3) 

 (a + 1)(a + 2)(a − 3) N (a − 1)(a − 2)(a − 3) 

 x3 + 4x2 + 72

K x + 2 L x + 3  x + 6 N x + 4 

 

K 2x + xy + y2
L x2 + x + y2 

M x2 + y2 + y  x2 + xy + y2 

 2x
4
 − 5x

3
 − 5x + 2

K x + 1  x − 1 M x + 2 N x − 2 

 x
4
 − x

2
 − 12 

K (x + 2)2(a2 − 3) L (a − 2)2(a2 − 3)

M (a + 2)(a2 + 3)  (a + 2)(a − 2)(a2 + 3) 

 
a2

(a − b)(a − c)
 + 

b2

(b − c)(b − a)
 + 

c2

(c − a)(c − b)
 = 

 

 1 L −1 M 0 N a + b + c 

 F(x, y) = 8x
3
 + y

3
 − 4x

2
 + 7xy + 2y − 5 F(1, 0) = 

K 8 L − 4 M 7  − 1 

 F(x, y, z) = x
3
 + y

3
 + z

3
 − 3xyz F(1,  1, − 2) = 

 1 L − 1 M 0 N 3 

 px
2
 + qx + r

K p L q M r  x 

 F(x) = px
3
 + qx + r r − m

 pm
3
 + qm + r L px

2 
+ qmx + r

M pm
2
 + qm + r N px

2
 + mx + r 

 F(x) = 5x3 + 6x2 − ax + 6 x − 2 a

K 5 L 6  35 N − 6 

 F(x) = x
4
 + 3x

3
 + 5x

2
 + 8x + 5

K x − 1 L x − 5 M x + 5  x + 1 

 x

K 4x
2

L 4x M 

3

4
  2 

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 P(x) = 32x
4
 − 16x

2
 + 8x + 7 −

i. P(0) = 7 

ii. P(1) = 31 

iii. P( − 1) = 15

 

K i  ii L i  iii  M ii  iii  i, ii iii 

 i. P(x) (x − a) P(a) 

ii. P(x) = x3 − 8x2 + 6x + 60 (x + 2) 

8

iii. P(x)  x − a P(a) = 0 

 

K i  ii L i  iii M ii  iii  i, ii iii 

 i. x
3
 + 2x

2
  − 5x − 6 (x − 1) 

ii. a
3
 − a

2
 − 10a − 8 (a + 1) 

iii. 2a
3 
− 3a

2
 + 3a − 1 (2a − 1) 

 

K i  ii L i  iii  ii  iii N i, ii iii 

 a = 2, b = 3 c = 2  ⎯

i. ax
2
 + bx + c 

ii. ax
2
 + bcxy + cy

2
 

iii. ax
2
 + by

2
 + cz

2
 

 

 i  ii L i  iii M ii  iii N i, ii iii 

 P(x) = x
2
 − x − 2 

i. (x + 1)

ii. x = 2 

iii. (x − 4) 10

 

K i  ii L i  iii M ii  iii  i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

5x + 2

(x + 2) (3x − 2)
  

A

x + 2
 + 

B

3x − 2
  

 x = A = 1

 − 2 L

2

3
 M

3

2
 N 2 

 x = 
2

3
 B

K − 3 L  − 2  2 N 3 

 

K

2

x + 2
 + 

1

3x − 2
 L

1

3x − 2
 + 

3

x + 2
 

 
1

x + 2
 + 

2

3x − 2
 N

1

x + 2
 − 

2

3x − 2
  

fvM‡kl I Drcv`K Dccv`¨ 

   mvaviY enywbe©vPwb cÖ‡kœvËi 

 2(1 + 2x)(1 − 2x)

 − 8 L 2 M 4 N 8 

 5y  3y + 2y  3x − 4

K 5 L 4  3 N 2 

 x
2
(3 − 2x − x

3
)

K − 3  − 1 M 1 N 3 

 3  x
3
  x

4
  x

6 
 2  x5 + x2 

 2 L 3 M 4 N 6 

 2 (1 + 2x)(1 − 2x) 





 −8 L 2 M 4 N 8 

 x2 − x7  2  x6 − 2 

 x3
L − x7

M x6
N − x 

 9x − 2 = bx + a a

K − 9 L − 2 M 2  9 

 Q(y) = x
2
 − 5y + 6 y Q(y) = 2

K 2  4 M 5 N 6 

 A(x) = x
3
 − 4x

2
 + 4x − 4 x − 3) A(x)

K 2 L 1 M 0  − 1 

 18x
3
 + 15x

2
 − x − 2 

K {− 2, 2} L { − 2}  {1, − 1, 2, − 2} N {1, − 

1} 

 

K 2x + xy + y
2

L x
2
 + x + y

2

M x
2
 + y

2
 + y  x

2
 + xy + y

2
 

 Q(x) = ax2 + 2bx + c (x − 1)

K a
2
 + 2b + c = 0 L a + b + c = 0

M 2a + b + c = 0  a + 2b + c = 0 

 P(x) = 2x
2
 − 7x + 5 P(2) =

K − 2  − 1 M 1 N 4 

 
x

3

x
2
 − 9

 

K x + 
9

x
2
 − 9

L x + 
x

x
2
 − 9

 x + 
9x

x
2
 − 9

N x + 
1

x
2
 − 9

 

 
9x

(x + 3)(x − 3)
   

 L M N

 a(b2 − c2) + b(c2 − a2) + c(a2 − b2)

 (a + b)(b + c)(c + a) L (a − b)(b − c)(c − a) 

M − (a + b)(b + c)(c + a) N 2abc(a2 − b2 − c2) 

 5x2y + 6y2z + 12z2x − 8xyz x, y, z 

K 1 L 2  3 N 4

 x4 −  5x3 + 7x2  −  a (x − 2) a = ?

K 6  4 M 3 N − 4 

 4x5 + 6x4 + 3x3 − x2 + x + 3

K 5 L 4 M 2  3 

 bc(b − c) + ca(c − a) + ab(a − b)

K (a + b)(b + c)(c + a) L (a − b)(b − c)(c − a)

 −(a − b)(b − c)(c − a) N (a + b + c)(b − c)(c − a) 

 P(a, b, c) = a3 + b3 + c3 − 3abc P(0, 1, 2) 

K 18  9 M 12 N 3 

 P(x) = 3x3 − 4x2 + 4x − 3 P(1) = 

K 1 L −1 M 3  0 

 P(x) = 2x3 − 3x2 + 2x − 1

 2 L 3 M − 1 N 4 

 

x 2x3 −3x2 + 2x − 1 

  x 3 2x3 

  2x3 

2 

 P(x) = 6x2 − 2x + 3 (x − 1) 

K 5 L −1  7 N 3 

 P(y) = y3 − 8x2 + 6y + 60 y + 2 

K 6  8 M 72 N 12 

 x − 1, x4 − 4x3 + 6x2 − a a 

 3 L 4 M −3 N 1 

 x2 + y2 + z2 + xy + yz + zx

K x2 + y2 + z2 + xy + yz + zx L y2 + z2 − x2 − xy + 

zx + yz

M x2 − y2 − z2 − xy − yz − zx  z2 + y2 + x2 + zx + 

yx + yz 

 
4x3 + 2x2 + 1

2x3 + 3

K 4 L 2  2 N 3 

 (x2 + 2) (x + 1) 

K (x4 + x3 + 2x + 2) L (x2 + x + 2)

M x3 + x2 + 3x + 2  x3 + x2 + 2x + 2 

 x2 + y2 + z2 + xy + yz + zx

K L

 N

 x4 − 5x3 + 7x2 − a (x − 2) a =

K 6  4 M 3 N −4 

 P(x) = 4x4 − 12x3 + 7x2 + 3x − 2 

(2x + 1) P



−

1

2

 0 L 

1

2
M 4 N 12 

 


a + 1

a2 + 1
L

a2 + 1

a + 1
M 

a2

 a + 1
N

a3 + 1

a2 + 1
 

 y3 − 8y2 + 6y + 60 y + 2 





K 6  8 M 75 N 112 

 Q(y) = y3 −8y2 + 6y 

+ 60 y + 2 Q (− 2)  

  = (− 2)3 − 8(− 2)2 + 6(− 2) + 60 

   = − 8 − 32 − 12 + 60 

   = 52 + 60 

   = 8 

 P(x) Q(x) x 

K

 
 M N

 P(x) = ax3 + bx + c ; P(x) x − m 

K ax + b + c L ax2 + bx + c M bx + c

 am3 + bm + c 

 P(x) = 5x2 + 6x2 − ax + 6 (x − 2) 6 

a = 

K 2  32 M 12 N 20 

 
1

x2(x2 + 1)2 

K 
1

x
 + 

1

x2 − 
1

x2 + 1


1

x2 − 
1

x2 + 1
 − 

1

(x2 + 1)
2

M 

1

x
 − 

1

x2 − 
1

x2 + 1
 N

1

x2 + 
1

x2 + 1
 − 

1

(x2 + 1)
2 

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 x2 + y2 + z2 

i.  

ii.  

iii. 

  

K i  ii L i  iii M ii  iii  i, ii iii 

 y  y + 2y  2 − 5  5 ⎯

i. 3 

ii.  1 

iii. y 4

  

K i  ii L i  iii M ii  iii  i, ii iii 

 x
5
  x

2
 + x

5
 x

2
  ⎯

i. 7 

ii. x
3 

1 

iii. 

  

K i  ii L i  iii M ii  iii  i, ii iii 

 2  x5  x2 − 3x2 + x3  2  x ⎯

i. 2 

ii. 2x
4 

iii. 3

  

 i  ii L i  iii M ii  iii N i, ii iii 

 7x2 − 5x + 6 = ax2 + cx + b 

i. b = 6 

ii. c = −5 

iii. a = 7

  

K i  ii L i  iii M ii  iii  i, ii iii 

 3x5 − 6x4 + 3x3 + x − 8 x

i. 4 

ii. 3x5 

iii. 3

   

K i  ii L i  iii  ii  iii N i, ii iii 

 3x3 + 2x2 − 7x + 8  −

i. 3 

ii. x 

iii. P(0) = 8

   

K i  ii L ii  iii  i  iii N i, ii iii 

 (x2 + 2)  (x + 1) −

i. x3 + x2 + 2x + 2 

ii. 3 

iii. P(1) = 6

   

K i  ii  i  iii M ii  iii N i, ii iii 

 
1

(a − b)(a − c)
 + 

a2 + a + 1

(a − b)(a − c)
 ⎯  

i.  

ii. 
 

iii. 
2a2 − ab + bc − ca + a + 1

(a − b)(a − c)
 

  

 i  ii L i  iii M ii  iii N i, ii iii 

 P(x)  Q(x) x

i.  

ii. P(x)  Q(x)  

iii. P(x) = Q(x) 

   

 i  ii L i  iii M ii  iii N i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

−

P(x) = x
2
 + 3x + 2

 

K (x + 3)(x + 4)  (x + 1)(x + 2)

M (x − 1)(x − 2) N (x + 3)(x − 2) 

 

 2 L 1 M 3 N 4 

 x = − 1 P(x) = ?





K 1 L 2 M 3  0 

P(x) = 32x4 − 16x2 + 8x + 7

 P(1)

K 63 L 47  31 N 1 

 P(x) 2x − 1 

 9 L 11 M 13 N 19 

 8x3 + y3 − 2xy

K 8  3 M 2 N − 2 

 P(x) = 3x3 + 2x2 − 7x + 8 P(0)

 8 L 3 M 2 N − 2 

 P(x) = 3x3 − 4x2 + 4x − 3 P(x)  (x − 2)

K P(1)  P(2) M P(3) N P(4) 

 P(x) = x3 − 6x2 + 11x − 6 P(x)

K (x + 3) L (x + 2)

M (x + 1)  (x − 1) 

 

K 2x2 + 3xy + y2
 2x2 + 2xy + 2y2 

M x2 + 3xy + 2y2
N 4x2 + xy + 3y2 

 x2y + y2z + z2x

K y2z − z2x + x2y L y2z + z2x − x2y 

M − y2x + z2x + x2y  y2z + z2x + x2y 

 x2(y − z) + y2(z − x) + z2(x − y)

K x2(y − z) + z2(z − x) + y2(y − z) 

L y2(x − z) + x2(z − y) + z2(y − x) 

 z2(x − y) + y2((z − x) + x2(y − z) 

N x2(y + z) + y2(z + x) + z2(x + y) 

 bc(b − c) + ca(c − a) + ab(a − b)

K (a − b) (b − c) (c − a) L (a + b) (b + c) (c + a) 

 − (a − b) (b − c) (c − a)N − (a + b) (b + c) (c + a) 

 P(x, y, z) = x3 + y3 + z3 − 3xyz P(1, 1, − 1) = 

K 0  4 M − 1 N 2 

 a x4 − 5x2 + 7x2 − a  x 

− 2.

K 1 L 2 M 3  4 

 2xy + y = 3

K (1, − 1), (2, − 1) L (1, 1), (2, − 1) 

 (1, 1), (− 2, − 1) N (− 1, 1), (2, − 1) 

 y = x2 − x + 6

K y  x M x2 − x N 6 − x 

 

K L  N  

 x

K 7x2
 2 M

3x

x
N 4x 

 Variable

K L  N  

 

K x + y + 1 L 2 + y + z 

M 3 + x + z  4x + 2y + 3z 

 x2 + y2 + z2

i. 

ii. 

iii.  

 

K i  ii L i  iii M ii  iii  i, ii iii 

 Y  Y + 2Y  2 − 5 + 5

i. 3 

ii. − 1 

iii. y  4 

 

K i  ii L i  iii M ii  iii  i, ii iii 

 x2(y − z) + y2(z − x) + z2(x − y)

i. 

ii. 

iii. 

 

K i  ii  i  iii M ii  iii N i, ii iii 

 P(x) = x2 − x − 2

i. (x + 1)

ii. x = 2

iii. (x − 4) 10 

 

K i  ii L i  iii M ii  iii  i, ii iii 

P(x) = 32x4 − 16x2 + 8x + 7

 P(1)

K 63 L 47  31 N 1 

 P(x) 2x − 1

 9 L 11 M 13 N 19 

5x − 7

(x − 1)(x − 2)
 = 

A

x − 1
 + 

B

x − 2
; A B

 A = 

K 1  2 M 3 N 4 

 B = 

K 1 L 2  3 N 4 

 


2

x − 1
 + 

3

x − 2
L

2

x + 1
 + 

3

x + 2
 





M

2

x − 1
 + 

3

x + 2
N

2

x + 1
 + 

3

 x − 2
 

5x2 − 4x4y4 − 2

 

K 2 L 3 M 4  8 

 

K 3 L 2  − 4 N − 1 

x2 + 4x2 + x − a (x − 1) 

 a

K 2 L 4  6 N 8 

 

 1 L − 1 M 2 N 4 

 

i. x + 1

ii. x + 2

iii. x + 3

 

K i  ii L i  iii  ii  iii N i, ii iii 

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 P(x) x2 − 5x + 6 x − 4 −

i. 2 

ii. P (− 4) 

iii. P (4)  

 

K i ii  i iii M ii iii N i, ii iii 

 P(x) x − a 

P(a) P(4) = 42 − 5   4 + 6 

= 2 

  i iii

 P(x) Q(x) x −

i.  

ii. P(x)  Q(x)

iii. P(x)  Q(x)  

 

 i ii L i iii M ii iii N i, ii iii 

 i ii

P(x)  Q(x) P(x) Q(x) 

iii

 i. a + b + c = 0 a2 + b2 + c2 = 3abc. 

ii. p(x, y, z) = 
x

y
 + 

y

z
 + 

z

x

iii. 
1

1 + x
 + 

2

1 + x2 + 
4

x4 − 1
 

1

x − 1
 

 

K i ii L i iii M ii iii  i, ii iii 

 i. 

ii.  

iii.  

 

K i ii L i iii  ii iii N i, ii iii 

 x2 (y − z) + y2(z − x) + z2(x − y) − 

i.  

ii.  

iii.  

 

 i ii L i iii M ii iii N i, ii iii 

 a = 2, b = 3 c = 2 −

i. ax2 + bx + c  

ii. ax2 + bcxy + cy2  

iii. ax2 + by2 + cz2  

 

 i ii L i iii M ii iii N i, ii iii 

 iii 2x2 + 3y2 + 2z2

 i. x2 + y2 + z2 + xy + yz + zx 

ii. x2(y − z) + y2 (z − x) + z(x − y) 

iii. 
x

y
 + 

y

z
 + 

z

x
 

 

K i L ii M iii  i, ii iii 

 (i), (ii) (iii)  

 i. x2 − y2 + z2  

ii. x2y + y2z + z2x x, y, z 

iii. x, y, z F(x, y, z)

 

K i ii  ii iii M i iii N i, ii iii 

 i. P(x)  x − 6 P(6) = 1 

ii. P(x) a  0 P(x) ax + 

b P




−b

a
 

iii. x − 1

0 

 

K i ii  ii iii M i iii N i, ii iii 

 i. P(x) (x − a) P(a)  

ii. P(x) = x3 − 8x2 + 6x + 60 (x + 2) 

8

iii. P(x) x − a P(a) = 0

 

K i ii L ii iii M i iii  i, ii iii 

 (i) 

(ii) x + 2  x − (−2) 

  P(−2) = (−2)3 − 8(−2)2 + 6(−2) + 60 

   = − 8 − 32 − 12 + 60 = 60 − 52 = 8 

   8. 





  (iii) 

 i. x2 + y2 + z2 + xy + yz + zx 

ii. x2 (y − z) + y2(z − x) + z(x − y)

iii. 
x

y
  + 

y

z
 + 

z

x

 

 i L ii M iii N i, ii iii 

 

i)

 i. 5x + 9ay 

ii. 13x − 14y2 + a + 8  

iii.  

 

K i ii L ii iii  i iii N i, ii iii 

 i. x − 1 

ii. P(x) = x3 − 6x2 + 11x − 6 (x − 1) 

(x − 2) (x − 3). 

iii. P(x) = ax3 + bx2 + cx + d (x − 1)

a = b = c = d. 

 

 i ii L ii iii M i iii N i, ii iii 

 i. 

ii.  

iii.  

 

 i ii L ii iii M i iii N i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

P(x) = x3 − 6x2 + 11x − 6 

 

K 1 L 3 M 6  − 6 

 x = 1 P(x) = 

 0 L 1 M −1 N 24 

 

 K (x − 1) (x − 2) L (x + 1) (x + 2)

 (x − 1) (x − 2) (x − 3) N (x − 1) (x + 2) (x + 3) 

P(x) = 
2

1 + x2 + 
4

1 + x4 + 
8

1 + x8 + 
16

x16 − 1
 

 P(x) 

K

2

x2 − 1
L

4

x4 − 1


8

x8 − 1
N

16

x16 − 1
 

 
1

1 + x
 + P(x) 

K 
1

x + 1


1

x − 1
 M 

2

x + 2
N

2

x − 2
 

¸iæZ¡c~Y© m„Rbkxj cÖkœ I mgvavb 

 x, y, z F(x, y, z) = x3 + y3 + z3 − 3xyz. 

F(x, y, z) 

F(x, y, z) F(x, 

y, z) = 0, x + y + z  0

 x2 + y2 + z2 = xy + yz + zx.

x = b + c − a, y = c + a − b z = a + b − 

c F(a, b, c) : F(x, y, z) = 1 : 

4.

  1 bs cª‡kœi mgvavb   

 

 P(x) = − x2 + 15x + 10x3 + 9 Q(x) = x3 + x2 − 6x. 

 

P(x) x 

P(x) 

x2 + x − 1

Q(x)
 

  2 bs cª‡kœi mgvavb   

P(x) = − x2 + 15x + 10x3 + 9 

 P(x) x 

P(x) = 10x3 − x2 + 15x + 9 

  P(x) 10. (Ans.) 

P(x) = 10x3 − x2 + 15x + 9 

 P(x) 9 f1 = {1, − 1, 3 − 3, 9, − 

9} 

 P(x) 10 f2 = {1, −1, 2, − 2, 5, − 

5, 10 − 10} 

 P(a) a = 


4
   f1, s  f2 

 a = 1 P(1) = 10 − 1 + 15 + 9  0 

 a = − 1 "  P(−1) = − 10 − 1 − 15 + 9  0 

 a = − 
1

2
 P 



− 

1

2
 = 10 



− 

1

8
 − 

1

4
 + 15 



− 

1

2
 + 9 

  = − 
5

4
 − 

1

4
 − 

15

2
 + 9 

  = 
− 5 − 1 − 30 + 36

4
 

  = 
− 36 + 36

4
 





  = 
0

4
 

  = 0 

 x + 
1

2
 = 

1

2
 (2x + 1) (2x + 1), P(x)

10x3− x2 + 15x + 9 

  = 10x3 + 5x2 − 6x2 − 3x + 18x + 9 

  = 5x2(2x + 1) − 3x(2x + 1) + 9(2x + 1) 

  = (2x + 1) (5x2 − 3x + 9) 

  P(x) = (2x + 1)(5x2 − 3x + 9) 

Q(x) = x3 + x2 − 6x 

  = x(x2 + x − 6) 

  = x(x2 + 3x − 2x − 6) 

  = x(x(x + 3) − 2(x + 3)} 

  = x(x + 3) (x − 2) 

  
x2 + x − 1

Q(x)
 

 = 
x2 + x − 1

x(x + 3)(x − 2)
 

 
x2 + x − 1

x(x − 2)(x + 3)
 = 

A

x
 + 

B

x − 2
 + 

c

x + 3
 ...............(i) 

 (i) x(x − 2)(x + 3) 

x2 + x − 1  A(x − 2)(x + 3) + Bx(x + 3) + cx(x − 2) .....(ii) 

 x 

(ii) x = 0 

02 + 0 − 1 = A(0 − 2) (0 + 3) + B.0(0 + 3) + c.0(0 − 2) 

 − 1 = A(− 2). 3 + 0 + 0 

 − 1 = − 6A 

 A = 
1

6
 

 (ii) x = 2 

22 + 2 − 1 = A(2 − 2)(2 + 3) + B.2(2 + 3) + c.2(2 − 2) 

 4 + 2 − 1 = 0 + 10B + 0 

 5 = 0 + 10B 

  B = 
5

10
 = 

1

2
 

 (ii) x = − 3 

(−3)2 + (−3) − 1 = A(− 3 − 2) (− 3 + 3) + B(− 3)(− 3 + 3) + 

c(− 3)(− 3 − 2). 

 9 − 3 − 1 = 0 + 0 + 15c 

 5 = 15c 

  c = 
5

15
 = 

1

3
 

 A, B C (i)-

x2 + x − 1

x(x − 2)(x + 3)
 = 

1

6

x
 + 

1

2

x − 2
 + 

1

3

x + 3
 

  = 
1

6x
 + 

1

2(x − 2)
 + 

1

3(x + 3)
. 

 

 F(x) = x4 + 3x3 + 4x2 + 6x + 4  

F(x) (2x + 1) 

F(x) = 0 x 

x

F(x)
 

  3 bs cª‡kœi mgvavb   

f(x) = x4 + 3x3 + 4x2 + 6x + 4 

  (2x + 1) 

 

f(x) (2x + 1) 

 f 



 − 

1

2
 = 



 − 

1

2

4

 + 3. 



 − 

1

2

3

 + 4



 − 

1

2

2

 + 6. 



 − 

1

2
 + 4 

  = 
1

16
 − 

3

8
 + 

4

4
 − 

6

2
 + 4 

  = 
1

16
 − 

3

8
 + 1 − 3 + 4 

  = 
1

16
 − 

3

8
 + 2 

  = 
1 − 6 + 32

16
 

  = 
27

16
 

 
27

16
.

f(x) = x4 + 3x3 + 4x2 + 6x + 4 

 4 

 1, 2, 4 

 x = − 1 

f(−1) = (−4)4 + 3(−1)3 + 4(−1)2 + 6(−1) + 4 

  = 1 − 3 + 4 − 6 + 4 

  = 9 − 9 

  = 0 

  (x + 1), f(x) 

f(x) = x4 + 3x3 + 4x2 + 6x + 4 

  = x4 + x3 + 2x3 + 2x2 + 2x2 + 2x + 4x + 4 

  = x3(x + 1) + 2x2(x + 1) + 2x(x + 1) + 4(x + 1) 

  = (x + 1)(x3 + 2x2 + 2x + 4) 

  = (x + 1){x2(x + 2) + 2(x + 2)} 

  = (x + 1) (x + 2) (x2 + 2) 

 f(x) = 0 

  (x + 1) (x + 2) (x2 + 2) = 0 

 x + 1 = 0 

 x = − 1 

 x + 2 = 0 

 x = − 2 

 x2 + 2 = 0 

 x = −2 

 

x = − 1, − 2. 

x

f(x)
 = 

x

x4 + 3x3 + 4x2 + 6x + 4
 





  = 
x

(x + 1)(x + 2)(x2 + 1)
  

x

(x + 1)(x + 2)(x2 + 2)
 = 

A

x + 1
 + 

B

x + 2
 + 

C

x2 + 1
 ............(i) 

 
x

(x + 1)(x + 2)(x2 + 2)
 = 

A(x + 1)(x2 + 2) + B(x + 1)(x2 + 2) + C(x + 1)(x + 2)

(x + 1)(x + 2)(x2 + 2)
 

 (x + 1)(x + 2) (x2 + 2) 

x = A(x + 1)(x2 + 2) + B(x + 1)(x2 + 2) + C(x + 1)(x + 2) ..... (ii) 

 (ii) 

0 = A + B ........................(iii) 

 0 = 2A + B + C ...............(iv) 

 1 = 2A + 2B + 3C ............(v) 

 (iv) (iii)

 A + C = 0 ................(vi) 

 (iii) 2 (v)

3c = 1 

 c = 
1

3
 

 c (vi)

A + 
1

3
 = 0 

  A = − 
1

3
 

A (iii)

− 
1

3
 + B = 0 

  B = 
1

3
 

 (i) A, B C 

x

x4 + 3x3 + 4x2 + 6x + 4
 = 

−
1

3

x + 1
 + 

1

3

x + 2
 + 

−
1

3

x2 + 2
 

   = 
1

3(x + 1)
 + 

1

3(x + 2)
 − 

1

3(x2 + 2)
 

   = 
1

3(x + 2)
 − 

1

3(x + 1)
 − 

1

3(x2 + 2)
 (Ans.) 

 (a) = a3 + 5a2 + 6a + 8 P(x) = 
x + 3

x2 + 8x + 15
  

(− 2)

P(x)

(a) (a − x) (a − y)

x2 + y2 + xy 

+ 5x + 5y + 6 = 0 x  y.

  4 bs cª‡kœi mgvavb   

 a) = a3 + 5a2 + 6a + 8 

  (−2) = (−2)3 + 5(−2)2 + 6(−2) + 8 

  = − 8 + 20 − 12 + 8 

  = 8 (Ans.) 

P(x) = 
x + 3

x2 + 8x + 15
 

  = 
x + 3

x2 + 5x + 3x + 15
 

  = 
x + 3

(x + 5)(x + 3)
 = 

1

x + 5
 

 

(a) (a − x)

(x) = x2 + 5x2 + 6x + 8 

  a) (a − y)

(P) = y3 + 5y2 + 6y + 8 

 (x) = (y) 

 x3 + 5x2 + 6x + 8 = y3 + 5y2 + 6y + 8 

 x3 − y3 + 5(x2 − y2) + 6(x − y) = 0 

 (x − y) (x2 + xy + y2) + 5(x + y) (x − y) + 6(x − y) = 0 

 (x − y) (x2 + xy + y2 + 5x + 5y + 6) = 0 

 (x − y) (x2 + y2 + xy + 5x + 5y + 6) = 0 

 x − y  0 

  x2 + y2 + xy + 5x + 5y + 6 = 0 x  y]

 (y) = 
y3 − 2y2 + 1

y2 − 2y − 3
 





−

1

3

(y) = 0 y

(y)

  5 bs cª‡kœi mgvavb   

(y) = 
y3 – 2y2 + 1

y2 – 2y – 3
 

   



– 

1

3
 = 





– 

1

3

3

 – 2



– 

1

3

2

 + 1





– 

1

3

2

 – 2



– 

1

3
 – 3

 

  = 

– 
1

27
 – 2.

1

9
 + 1

1

9
 + 

2

3
 – 3

 = 

– 1 – 6 + 27

27

1 + 6 – 27

9

  

  = 
20

27
 × 

9

(– 20)
 = – 

1

3
 

  



– 

1

3
 = – 

1

3
 

(y) = 0

 
y3 – 2y2 + 1

y2 – 2y – 3
 = 0 

 y3 – 2y2 + 1 = 0 

 g(y) = y3 – 2y2 + 1 

  g(1) = (1)3 – 2(1)2 + 1 = 1 – 2 + 1 = 0 

  (y – 1), g(y)

y3 – 2y2 + 1 = 0 

y3 – y2 – y2 + y – y + 1 = 0 

y2(y – 1) – y(y – 1) – 1(y – 1) = 0 

(y – 1) (y2 – y) = 0  

 y – 1 = 0  y2 – y – 1 = 0 





  y = 1                   

ax2 + bx + c = 0 

a = 1, b = – 1, c = – 1 

  y = 
– b  b2 – 4ac

2a
 

 = 
– (– 1)  (– 1)2 – 4.1(–1)

2.1
 

  y 1, 
1 + 5

2
, 

1 – 5

2
  

y3 – 2y2 + 1

y2 – 2y – 3
 

 
y3 – 2y2 + 1

y2 – 2y – 3
 = 

y(y2 – 2y – 3) + 3y + 1

y2 – 2y – 3
 

  = y + 
3y + 1

(y – 3) (y + 1)
 

  
3y + 1

(y – 3) (y + 1)
 

 
3y + 1

(y – 3) (y + 1)
  

A

y – 3
 + 

B

y  + 1
 ............. (i) 

 (i) (y – 3) (y + 1)

3y + 1  A(y + 1) + B(y – 3) ........... (ii) 

(ii) y = – 1 

3(– 1) + 1 = A(– 1 + 1) + B(– 1 – 3) 

– 3 + 1 = A.0 – 4B 

– 2  – 4B 

  B = 
2

4
 = 

1

2
 

 (ii)  y = 3

3.3 + 1 = A(3 + 1) + B(3 – 3) 

9 + 1 = 4.A + B.0 

 10 = 4A 

  A = 
10

4
 = 

5

2
 

A  B (i) −

3y  + 1

(y – 3) (y + 1)
 = 

5

2

y – 3
 + 

1

2

y + 1
 

y3 – 2y2 + 1

y2 – 2y – 3
 = y + 

5

2

y – 3
 + 

1

2

y + 1
 

  = y + 
5

2(y – 3)
 + 

1

2(y + 1)

 x P(x) = 18x3 + 15x2 − x + k, 

  N(x) = x2 − 4x − 7 D(x) = x3 − x2 − 10x − 8 

D(x)

P(x) (3x + 2) k

N(x)

D(x)
 

  6 bs cª‡kœi mgvavb   

x = −1 D(−1) = 0

(x + 1), D(x)

 D(x) = x3 − x2 − 10x − 8 

   = x3 + x2 − 2x2 − 2x − 8x − 8 

   = x2 (x + 1) − 2x (x + 1) − 8(x + 1) 

   = (x + 1) (x2 − 2x − 8) 

   = (x + 1) (x2 − 4x + 2x − 8) 

   = (x + 1) {x(x − 4) + 2(x − 4) 

   = (x + 1) (x + 2) (x − 4) (Ans.)

P(x) = 18x3 + 15x2 − x + k 

 (3x + 2) 3



x + 

2

3
3









x − 



−

2

3
, P(x) 

P 



−

2

3
 = 

0 

 P 



−

2

3
 = 18



−

2

3

3

 + 15



−

2

3

2 
− 



−

2

3
 + k 

  = −18 



8

27
 + 15 



4

9
 + 

2

3
 + k 

  = − 
16

3
 + 

20

3
 + 

2

3
 + k 

  = 
−16 + 20 + 2 + 3k

3
 = 

6 + 3k

3
 

 P



−

2

3
 = 0 

  
6 + 3k

3
  = 0

6 + 3k = 0  k = −2 

N(x) = x2 − 4x − 7 

 

D(x) = (x + 1) (x + 2) (x − 4) 

  
N(x)

D(x)
 = 

x2 − 4x − 7

(x + 1) (x + 2) (x − 4)
 

  
x2 − 4x − 7

(x + 1) (x + 2) (x − 4)

x2 − 4x − 7

(x + 1) (x + 2) (x − 4)
   

A

x + 1
 + 

B

x + 2
 + 

C

x − 4
........ (i) 

 (i) (x + 1) (x + 2) (x − 4)

x2 − 4x − 7  A(x + 2) (x − 4) + B(x + 1) (x − 4) + C(x + 1) (x + 2) ........... (ii) 

 (ii) x

(ii) x = −1

1 + 4 − 7 = A(−1 + 2)(−1 − 4) 

  −2 = A(−5)  A = 
2

5
 

 (ii) x = −2

4 + 8 − 7 = B(−2 + 1)(−2 − 4) 

  5 = B(−1) (−6)  B = 
5

6
 

 (ii) x = 4

16 − 16 − 7 = C(4 + 1) (4 + 2) 

  −7 = C(5)(6)  C = −
7

30
 

 A, B, C (i)

x2 − 4x − 7

(x + 1) (x + 2) (x − 4)
   

2

5(x + 1)
 + 

5

6(x + 2)
 − 

7

30(x − 4)
 ; 





 

 F(x) = x3 − x2 − 10x − 8

f(x) = x3 + 2x3 − 1 P(x) = x2 + 2x − 3

f(x) x + 1

F(x)

  7 bs cª‡kœi mgvavb   

f(x) = x3 + 2x2 − 1 

 x + 1 x3 + 2x2 − 

1 

x3 + x2 

x2 + x −1 

 x2 − 1 

x2 + x 

 

 −x − 1 

−x − 1 

 

      0  

x + 1 f(x) 0. (Ans.) 

F(x) = x3 − x2 − 10x − 8 

 1 −8 

 = {1, −1, 2, −2, 4, −4, 8, −8} 

 F(1) = 13 − 12 − 10.1 − 8 = −18  0 

 F(−1) = (−1)3 − (−1)2 − 10(−1) − 8 

  = −1 − 1 + 10 − 8 = 0 

  {x − (−1)} (x + 1), F(x) 

x3 − x2 − 10x − 8 

  = x3 + x2 − 2x2 − 2x − 8x − 8 

  = x2(x + 1) − 2x(x + 1) − 8(x + 1) 

  = (x + 1) (x2 − 2x − 8) 

  = (x + 1) (x2 − 4x + 2x −8) 

  = (x + 1) (x − 4) (x + 2) 

 F(x) (x + 1)(x + 2)(x − 4) (Ans.) 

x3 + 2x2 − 1

x2 + 2x −3
  

 
x3 + 2x2 − 1

x2 + 2x −3
 = x + 

3x − 1

(x + 3)(x − 1)
 

 
3x −1

(x + 3)(x −1)
 

3x − 1

(x + 3)(x −1)
  

A

X + 3
 + 

B

x − 1
 .............(i) 

 (i) (x + 3)(x − 1)

3x − 1  A(x − 1) + B(x + 3) ............(ii) 

 (ii) x = 1

3.1 − 1 = A(1 − 1) + B(1 + 3) 

 3 − 1 = A  0 + B.4 

 2 = 4B 

  B = 
1

2
 

 (ii) x = −3

3(−3) − 1 = A(−3 −1) + B(−3 + 3) 

 −9 − 1 = A(−4) + B  0 

 −10 = 4A 

  A = 
5

2
 

 A B (i)

3x − 1

(x + 3)(x − 1)
  = 

5

2

x + 3
 + 

1

2

x − 1
 

 
x3 + 2x2 −1

x2 + 2x −3
  (Ans.) 

 x, y, z

F(x, y, z) = x3 + y3 + z3 − 3xyz. 

F(p, q, r)

F(a, b, c) = 
1

2
(a + b 

+ c) {(a − b)2 + (b − c)2 + (c − a)2}

a = y + z − x, b = x + z − y, c = x + y − 

z F(a, b, c) = 4 F(x, y, z)

  8 bs cª‡kœi mgvavb   

F(x, y, z) = x3 + y3 + z3 − 3xyz 

   F(p, q, r) = p3 + q3 + r3 − 3pqr 

 F(q, r, p) = q3 + r3 + p3 − 3pqr 

  = p3 + q3 + r3 − 3pqr 

 F(q, p, r) = q3 + p3 + r3 − 3qpr 

  = p3 + q3 + r3 − 3pqr 

  F(p, q, r) = F(q, r, p) = F(q, p, r) 

 F(p, q, r)

F(a, b, c) = a3 + b3 + c3 − 3abc 

 = (a + b)3 − 3ab(a + b) + c3 − 3abc 

 = (a + b)3 + c3 − 3ab(a + b + c) 

 = (a + b + c) {(a + b)2 − (a + b)c + c2} − 3ab(a + b + c) 

 = (a + b + c)(a2 + 2ab + b2 − ac − bc + c2) − 3ab(a + b + c) 

 = (a + b + c) (a2 + 2ab + b2 − ac − bc + c2 − 3ab) 

 = (a + b + c) (a2 + b2 + c2 − ab − bc − ca) 

 = 
1

2
(a + b + c)(2a2 + 2b2 + 2c2 − 2ab − 2bc − 2ca) 

 = 
1

2
 (a + b + c) (a2 − 2ab + b2 + b2 − 2bc + c2 + c2 − 2ca + a2) 

 = 
1

2
(a + b + c) {(a − b)2 + (b − c)2 + (c − a)2} 

  F(a, b, c) = 
1

2
(a + b + c) {(a − b)2 + (b − c)2 + (c − a)2}

F(a, b, c) = 
1

2
(a + b + c) {(a − b)2 + (b − c)2 + (c − a)2} 

 a = y + z − x, b = z + x − y, c = x + y − z 

  a + b + c = y + z − x + z + x − y + x + y − z = x + y + z 





 (a − b)2 = (y + z − x − z − x + y)2 

  = (2y − 2x)2 

  = {−2(x − y)}2 

  = 4(x − y)2 

 (b − c)2 = (z + x − y − x − y + z)2 

  = (2z − 2y)2 

  = {−2(y − z)}2 

  = 4(y − z)2 

 (c − a)2 = (x + y − z − y − z + x)2 

  = (2x − 2z)2 

  = (−2(z − x)}2 

  = 4(z − x)2 

  F(a, b, c) = 
1

2
 (a + b + c) {(a − b)2 + (b − c)2 + (c − a)2} 

 = 
1

2
(x + y + z) {4(x − y)2 + 4(y − z)2 + 4(z − x)2} 

 = 4  
1

2
 (x + y + z){(x − y)2 + (y − z)2 + (z − x)2} 

 = 4(x3 + y3 + z3 − 3xyz) 

 = 4F(x, y, z) 

 F(a, b, c) = 4F(x, y, z)

 P(x) = 18x3 + 15x2 + bx + c Q(x) = 

6x2 + 7x + a

Q(x)  (2x + 1)  a

a = 2  c = 2b.

 b  c  
x

P(x)
 

  9 bs cª‡kœi mgvavb   

Q(x) = 6x2 + 7x  + a (2x + 1)

Q



−

1

2
 = 0

Q



−

1

2
 = 6



−

1

2
2 + 7



−

1

2
 + a 

  = 6  
1

4
 − 

7

2
 + a  

  = 
3

2
 − 

7

2
 + a 

  = 
3 − 7 + 2a

2
 

  = 
2a − 4

2
 

  = 
2(a − 2)

2
 

  = a − 2 

 a − 2 = 0       a = 2 

 a = 2 

P(x) = 18x3 + 15x2 + bx + c

  Q(x) = 6x2 + 7x + 2          [ a = 2] 

  P(x) Q(x) 

 Q(x) = 6x2 + 7x + 2 

  = 6x2 + 4x + 3x + 2 

  = 2x(3x + 2) + 1(3x + 2) 

  = (3x + 2) (2x + 1) 

 (3x + 2) (2x + 1) P(x)

P



−

2

3
 = 0 P



− 

1

2
 = 0 

 P



−

2

3
 = 18 



−

2

3

3

+ 15 



−

2

3

2

+ b 



− 

2

3
 + c 

  = 18  



− 

8

27
 + 15  

4

9
 − 

2b

3
 + c 

  = − 
16

3
 + 

20

3
 − 

2b

3
 + c 

  = 
−16 + 20 − 2b + 3c

3
 

  = 
4 − 2b + 3c

3
 

 P



−

1

2
 = 18. 



− 

1

2

3

 + 15. 



− 

1

2

2

 + b 



− 

1

2
 + c 

  = 18  



− 

1

8
 + 15  

1

4
 − 

b

2
 + c 

  = − 
9

4
 + 

15

4
 − 

b

2
 + c 

  = 
−9 + 15 − 2b + 4c

4
 

  = 
6 − 2b + 4c

4
 

 
4 − 2b + 3c

3
 = 0

6 − 2b + 4c

4
  = 0 

 4 − 2b + 3c = 0 ..................... (i) 

  6 − 2b + 4c = 0 ......................(ii) 

 (i) (ii)

4 − 2b + 3c − 6 + 2b − 4c = 0 

 − c − 2 = 0 

  c = −2 

(i) c = − 2

4 − 2b + 3 (−2) = 0 

 4 − 2b − 6 = 0 

 −2b − 2 = 0 

 −2b = 2 

  b = −1 

 c = 2b 

b = −1, c = −2 

 P(x) = 18x3 + 15x2 + bx + c 

  = 18x3 + 15x2 − x − 2    [ b = −1, c = −2] 

  = 18x3 + 21x2 + 6x − 6x2 − 7x − 2 

  = 3x(6x2 + 7x + 2) − 1(6x2 + 7x + 2) 

  = (6x2 + 7x + 2)(3x − 1) 

  = (2x + 1) (3x + 2) (3x − 1) 





 
x

(2x + 1)(3x + 2)(3x − 1)
 

x

(2x + 1)(3x + 2) (3x − 1)
   

A

2x + 1
 + 

B

3x + 2
  

+ 
C

3x − 1
 .......... (iii) 

 (i) (2x + 1)(3x + 2)(3x − 1) 

x = A(3x + 2) (3x − 1) + B(2x + 1) (3x − 1)  

+ C(2x + 1) (3x + 2) ........... (iv) 

 (iv) x = − 
1

2
 

− 
1

2
 = A









3



− 

1

2
 + 2  









3



− 

1

2
 − 1  

B 








2 



− 

1

2
 + 1









3 



− 

1

2
 − 1 C 









2 



− 

1

2
 + 1  









3 



− 

1

2
 + 2  

−
1

2
 = A



− 

3

2
 + 2  



− 

3

2
 − 1   

+ B (−1 + 1) 



−

3

2
 − 1  + C(−1 + 1) 



− 

3

2
 + 2  

 −
1

2
 = A 

1

2
 



−

5

2
 + B.0. 



−

5

2
 + C.0.

1

2

 − 
1

2
 = A. 



− 

5

4
 + 0 + 0 

 − 
5

4
.A = − 

1

2
 

 A = 



− 

1

2
 



−

4

5
 

  A = 
2

5
 

 (iv) x = − 
2

3
 

− 
2

3
  = A









3



−

2

3
 + 2  









3



−

2

3
 − 1  + B 









2



−

2

3
 + 1  

  








3



−

2

3
 − 1  + C 









2



−

2

3
 + 1  









3



−

2

3
 + 2  

 − 
2

3
  = A(−2 + 2)(− 2 − 1) + B 



− 

4

3
 + 1 (−2 − 1) + C 





− 

4

3
 + 1  (− 2 + 2) 

 − 
2

3
 = A.0(− 3) + B 



−

1

3
 (−3) + C 



−

1

3
. 0 

 − 
2

3
 = 0 + B.1 + 0 

  B = − 
2

3
  

 (iv) x = 
1

3
 

1

3
  = A. 



3.

1

3
 + 2 



3.

1

3
 − 1  + B. 



2.

1

3
 + 1 



3.

1

3
 − 1   

+ C. 



2.

1

3
 + 1 



3.

1

3
 + 2  

1

3
  = A.(1 + 2) (1 − 1) + B



2

3
 + 1  (1 − 1)  

+ C



2

3
 + 1  (1 + 2) 

 
1

3
 = A.3.0 + B.

5

3
.0 + C.

5

3
 .3 

 
1

3
  = 0 + 0 + C.5 

  C = 
1

15
 

 A, B, C (iii)-   

 
x

(2x + 1)(3x + 2)(3x − 1)
 = 

2

5

2x + 1
 + 

−2

3

3x + 2
 + 

1

15

3x − 1
 

 = 
2

5(2x + 1)
 − 

2

3(3x + 2)
 + 

1

15(3x − 1)
,  

 (x) = x2 − 7x − 6  g(x) = 2x2 + x − a

(x) 

g



1

2
  = 0  (x)  g(x) 

g(x)

(x)
 

  10 bs cª‡kœi mgvavb   

f(x) = x3 − 7x − 6 

  f(−1) = (−1)3 − 7(−1) − 6 

  = −1 + 7 − 6 

  = 7 − 7 = 0 

  x − (−1) (x + 1), f(x)

x3 − 7x − 6 = x3 + x2 − x2 − x − 6x − 6 

  = x2(x + 1) − x(x + 1) − 6(x + 1) 

  = (x + 1)(x2 − x − 6) 

  = (x + 1) (x2 − 3x + 2x − 6) 

  = (x + 1) {(x(x − 3) + 2(x − 3)} 

  = (x + 1) (x − 3) (x + 2) 

  = (x − 3) (x + 1) (x + 2) 

 f(x)

g(x) = 2x2 + x − a g



1

2
 = 0 

  g



1

2
 = 2



1

2
2 + 

1

2
 − a 

 0 = 2  
1

4
 + 

1

2
 − a 

 0 = 1 − a 

  a = 1 

 g(x) = 2x2 + x − 1 

  = 2x2 + 2x − x − 1 

  = 2x(x + 1) − 1(x + 1) 

  = (x + 1) (2x − 1) 

 f(x) = (x − 3)(x + 1)(x + 2) 





 f(x) g(x)

(x + 1) 

g(x)

f(x)
 = 

2x2 + x −1

x3 − 7x − 6
 = 

(x + 1)(2x − 1)

(x − 3)(x + 1)(x + 2)
 = 

2x − 1

(x + 2)(x − 3)

2x − 1

(x + 2)(x − 3)
  

A

x + 2
 + 

B

x − 3

2x − 1

(x + 2)(x − 3)
  

A(x − 3) + B(x + 2)

(x + 2)(x −3)
 

 2x − 1  A(x − 3) + B(x + 2).................. (i) 

  (i) x = −2

2(−2) − 1 = A(−2 −3) + (−2 + 2) 

 −4 − 1 = A(−5) + B.0 

 −5 = −5A 

  A = 1 

 (i) x = 3

2  3 − 1 = A(3 − 3) + B(3 + 2) 

 6 − 1 = A.0 + B  5 

 5 = 5B 

  B = 1 

  
2x + 1

(x + 2)(x − 3)
 = 

1

x + 2
 + 

1

x − 3
 

 
g(x)

f(x)
 

1

x + 2
 + 

1

x − 3
 

 P(x) = x3 + 2x2 − 5x − 6 

P(x) (x − 2) 

P(x) 

P(x) x − a x − b 

a  b, 

 a2 + b2 + ab + 2a + 2b − 5 = 0

  11 bs cª‡kœi mgvavb   

P(x) = x3 + 2x2 − 5x − 6 

 P(x) (x − 2) P(2) 

  P(2) = 23 + 2.22 − 5.2 − 6 

  = 8 + 8 − 10 − 6 

  = 0 

 0. 

P(x) = x3 + 2x2 − 5x − 6 

 − 6

  1,  2,  3,  6 

 x = −3

P(−3) = (− 3)3 + 2(− 3)3 + 5 − 5 (− 3) − 6 

  = − 27 + 18 + 15 − 6 

  = − 33 + 33 

  = 0  

  (x + 3), P(x) 

P(x) = x3 + 2x2 − 5x − 6 

 = x3 + 3x2 − x2 − 3x −2x − 6 

 =x2 (x + 3) − x (x + 3) −2(x + 3) 

 = (x + 3)(x2 − x − 2) 

 = (x + 3) (x2 −2x + x − 2) 

 = (x + 3) {x (x − 2) + 1(x − 2)} 

 = (x + 3) (x + 1) (x − 2) 

 = (x +1) (x − 2) (x + 3)  

 (x +1) (x −2) (x + 3) 

P(x) x − a 

P(a) = a3 + 2a2 − 5a − 6 

 P(x) x − b 

P(b) = b3 + 2b2 − 5b − 6 

a3 + 2a2 − 5a − 6 = b3 + 2b2 − 5b − 6 

 a3 − b3 + 2a2 − 2b2 − 5a + 5b − 6 + 6 = 0 

 a3 − b3 + 2a2 − 2b2 − 5a + 5b = 0 

 (a − b)(a2 + ab + b2) + 2(a + b)(a − b) − 5(a − b) = 0 

 (a − b){a2 + ab + b2 + 2a + 2b − 5} = 0 

 a2 + b2 + ab + 2a + 2b − 5 = 0 [ a − b  0] 

  a2 + b2 + ab + 2a + 2b − 5 = 0 

 bc(b2 − c2) + ca (c2 − a2) + ab (a2 − b2) 

a P(a) 

a b P(b) 

  12 bs cª‡kœi mgvavb   

bc(b2 − c2) + ca(c2 − a2) + ab (a2 − b2) 

 P(a) = bc(b2 − c2) + ca(c2 − a2) + ab (a2 − b2) 

  P(b) = bc(b2 − c2) + bc(c2 − b2) − b2(b2 − b2) 

  = bc(b2 − c2) − bc(b2 − c2) − 0 

  = 0 

 P(b) = 0.

bc(b2 − c2) + ca(c2 − a2) + ab(a2 − b2) 

 = bc(b
2
 − c

2
) + c

3
a − ca

3
 + a

3
b − ab

3
 

 = bc(b
2
 − c

2
) + a

3
b − ca

3
 − ab

3
 + c

3
a 

 = bc(b
2
 − c

2
) + a

3
(b − c) − a(b

3
 − c

3
) 

 = bc(b + c) (b − c) + a
3
 (b − c) − a(b − c)(b

2
 + bc + c

2
) 

 = (b − c){(bc (b + c) + a
3
 − a(b

2
 + bc + c

2
)} 

 = (b − c)(b
2
c + bc

2
 + a

3
 − ab

2
 − abc − c

2
a) 

 = (b − c)(a
3
 − ab

2
 − c

2
a + bc

2
 − abc + b

2
c) 

 = (b − c){ a(a
2
 − b

2
) − c

2
(a − b) − bc(a − b)} 

 = (b − c)(a − b) { a
 
(a + b) − c

2
 − bc} 

 = (b − c)(a − b) (a
2
 + ab − c

2
 − bc) 

 = (b − c)(a − b)(− bc +  ab − c
2
 + a

2
) 

 = (b − c)(a − b) { − b(c −  a) − (c
2
 − a

2
)} 

 = (b − c)(a − b) { − b(c −  a) − (c + a) (c − a)} 

 = (b − c)(a − b)(c −  a)(− b − c − a) 





 = (b − c)(a − b)(c −  a) {− (a + b + c)} 

 = − (a − b)(b − c)(c −  a)(a + b + c) (Ans.) 

P(b) = 0 

  (a − b) 

(b − c) (c − a) 

(a − 

b)(b − c)(c − a) 

k(a + b + c) k 

 bc(b2 − c2) + ca(c2 − a2) + ab(a2 − b2) 

  = K(a − b)(b − c)(c − a)(a + b + c) ............(i) 

 a, b, c (i)

 (i) a = 0, b = 1, c = 2 

2(1 − 4) + 0(4 − 0) + 0(0 − 1) = k(0 − 1)(1 − 2)(2 − 0)(0 + 1 + 2) 

 − 6 + 0 + 0 = k(− 1) (− 1)(2)(3) 

 − 6 = 6K 

  k = −1 

 (i) K = −1 

bc(b2 − c2) + ca(c2 − a2) + ab(a2 − b2) 

 = −(a − b)(b − c)(c − a)(a + b + c) (Ans.) 

 a2 (b − c) + b2(c − a) + c2 (a − b) 

a3 − 1

(a − b)(a − c)
 , 

b3 − 1

(b − c)(b − a)
 , 

c3 − 1

(c − a)(c − b)

 

  13 bs cª‡kœi mgvavb   

a2(b − c) + b2(c − a) + c2 (a − b) 

 a b 

b2(a − c) + a2(c − b) + c2(b − a) 

 

  

a2(b − c) + b2(c − a) + c2(a − b) 

 = a2(b − c) + b2c − ab2 + c2a − bc2 

 = a2(b − c) + b2c − bc2 − ab2 + c2a 

 = a2(b − c) + bc (b − c) − a(b2 − c2) 

 = a2(b − c) + bc (b − c) − a(b + c) (b − c) 

 = (b − c) {a2 + bc − a (b + c)} 

 = (b − c)(a2 + bc − ab − ca) 

 = (b − c)(a2 − ab − ca + bc) 

 = (b − c) {a (a − b) − c (a − b)} 

 = (b − c)(a − b)(a − c)  

 = (b − c)(a − b) { −(c − a)} 

 = − (a − b)(b − c)(c − a) (Ans.) 

a3−1

(a − b) (a − c)
 + 

b3−1

(b − c) (b − a)
 + 

c3 −1

(c − a) (c − b)
  

− (1 − a3)

− (a − b) (c − a)
 + 

− (1 − b3)

− (b − c) (a − b)
 + 

− (1 − c3)

− (c − a) (b − c)
 

1 − a3

(a − b) (c − a)
 + 

1 − b3

(b − c) (a − b)
 + 

1 − c3

(c − a) (b − c)
 

 
(1 − a3)(b − c) + (1 − b3)(c − a) + (1 − c3)(a − b)

(a − b)(b − c)(c − a)
 

 
1(b − c) − a

3
(b − c) + 1(c − a) − b

3
(c − a) + 1(a − b) − c

3
 (a − b)

(a − b)(b − c)(c − a)
 

 
1(b − c + c − a  + a − b) − {a

3
(b − c) + b

3
 (c − a) + c

3
(a − b)}

(a − b)(b − c)(c − a)
 

 [ a3(b − c) + b3(c − a) + c3 (a − b) = −(a − b)(b − c)(a + b + c] 

 
0 − {− (a − b)(b − c)(c − a)(a + b + c)}

(a − b)(b − c)(c − a)
 

 
(a − b)(b − c)(c − a)(a + b + c)

(a − b)(b − c)(c − a)
 

 = a + b + c (Ans.) 


x3

x4 + 3x2 + 2
 

  14 bs cª‡kœi mgvavb   

x3 x4 + 3x2 + 2 x 

x3 3 x4 + 3x2 + 2 4  

 

x3

x4 + 3x2 + 2
 

x4 + 3x2 + 2 

  = x4 + 2x2 + x2 + 2 

  = x2 (x2 + 2) + 1(x2 + 2) 

  = (x2 + 2)(x2 + 1) (Ans.) 

  
x3

(x2 + 2)(x2 + 1)
 ≡ 

Ax + B

x2 + 2
 + 

(Cx + D)

x2 + 1

x3

(x2 + 2)(x2 + 1)
 ≡ 

Ax + B

x2 + 2
 + 

(Cx + D)

x2 + 1
 ......(i)

 
x

3

(x
2
 + 2)(x

2
 + 1)

 ≡ 
Ax + B

x
2
 + 2

 + 
Cx + D

x
2
 + 1

 .............. (i)

 (i) (x
2
 + 2)(x

2
 + 1)

x3  (Ax + B)(x
2
 + 1) + (Cx + D)(x

2
 + 2) 

     ≡ Ax
3
 + Ax + Bx

2
 + B + Cx

3
 + 2Cx + Dx

2
 + 2D 

     ≡ (A + C) x
3
 + (B + D) x

2
 + (A + 2C) x + (B + 2D)...... (ii) 

 (ii) x
3
, x

2
, x 

A + C = 1.............. (iii) 

  B + D = 0.............. (iv) 

  A + 2C = 0............. (v) 

  B + 2D = 0.............(vi) 

 (iv) (vi) B = 0 D = 0 

 (v)  

 A + C + C = 0 





  1 + C = 0           [ A + C = 1] 

  C = − 1 

 C = −1 iii

A − 1 = 1 

  A = 2 

A, B, C D i

x
3

(x
2
 + 2)(x

2
 + 1)

  

 = 
2.x + 0

x
2
 + 2

 + 
− 1. x + 0

x
2
 + 1

  

 = 
2x

x
2
 + 2

 − 
x

x
2
 + 1

  


1

a3 + 
1

b3 + 
1

c3 = 
3

abc

P(x) = 
2

1 + x2 + 
4

1 + x4 + 
8

1 + x8 + 
16

x16 − 1

P(x) 

1

1 + x
 + P(x) 

a = b = c ab + bc + ca = 0

  15 bs cª‡kœi mgvavb   

P(x) = 
2

1 + x2 + 
4

1 + x4 + 
8

1 + x8 + 
16

x16 − 1
 

 

= 
8

1 + x8 + 
16

x16 − 1
 

 = 
8

x8 + 1
 + 

16

(x8 + 1)(x8 − 1)
 

 = 
8x8 − 8 + 16

(x8 + 1)(x8 − 1)
 

 = 
8x8 + 8

(x8 + 1)(x8 − 1)
 

 = 
8(x8 + 1)

(x8 + 1)(x8 − 1)
 = 

8

(x8 − 1)
 (Ans.) 

1

1 + x
 + P(x) 

 = 
1

1 + x
 + 

2

1 + x2 + 
4

1 + x4 + 
8

1 + x8 + 
16

x16 − 1
 

 = 
1

1 + x
 + 

2

1 + x2 + 
4

1 + x4 + 
8

x8 − 1
  

= 
1

1 + x
 + 

2

1 + x2 + 
4

x4 + 1
 + 

8

(x4 + 1)(x4 − 1)
 

 = 
1

1 + x
 + 

2

1 + x2 + 




4x4 − 4 + 8

(x4 + 1)(x4 − 1)
 

 = 
1

1 + x
 + 

2

1 + x2 + 
4(x4 + 1)

(x4 + 1)(x4 − 1)
 

 = 
1

1 + x
 + 

2

1 + x2 + 
4

x4 − 1
 

 = 
1

1 + x
 + 





2x2 − 2 + 4

(x2 + 1)(x2 − 1)
 

 = 
1

1 + x
 + 

2(x2 + 1)

(x2 + 1)(x2 − 1)
 

 = 
1

1 + x
 + 

2

x2 − 1
 

 = 
x − 1 + 2

(x + 1)(x − 1)
 

 = 
x + 1

(x + 1)(x − 1)
 = 

1

x − 1
 (Ans.) 

1

a3 + 
1

b3 + 
1

c3 = 
3

abc
 

  



1

a

3

 + 



1

b

3

 + 



1

c

3

 − 3. 
1

a
 . 

1

b
 . 

1

c
 = 0 

  
1

2
 



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

  



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

 [ x3 + y3 + z3 − 3xyz = 
1

2
 (x + y + z) {(x − y)2 + (y − z)2 + 

(z − x)}] 

  
1

a
 + 

1

b
 + 

1

c
 = 0 

 
bc + ac + ab

abc
 = 0 

  ab + bc + ca = 0 

 



1

a
 − 

1

b

2

 = 0  



1

b
 − 

1

c

2

 = 0  



1

c
 − 

1

a

2

 = 0 

 
1

a
 − 

1

b
 = 0

1

b
 − 

1

c
 = 0 

1

c
 −  

1

a
 = 0 

 
1

a
 = 

1

b
 

1

b
 = 

1

c
  

1

c
 =  

1

a
 

 a = b  b = c  c = a 

  a = b = c 

  
1

a3 + 
1

b3 + 
1

c3 = 
3

abc
 a = b = c ab + bc + ca = 0 

 P(x) = x16 − 1  G(x) = 
1

1 + x
 + 

2

1 + x
2 + 

4

1 + x
4 + 

8

1 + x
8

(x + 1) (x − 1) F(x)

G(x) + 
16

F(x)
 = − 

1

1 − x

G(x) = xn + an n 

a n 

(x + a) Q(x) 

G(x) = (x + a) Q(x) 

  16 bs cª‡kœi mgvavb   

F(x) = x
16

 − 1 

 (x + 1), F(x) F( − 1) = 0 

 F( − 1) = ( − 1)
16

 − 1 

  = 1 − 1 

  = 0 

 (x + 1), F(x)

(x − 1), F(x) F(1) = 0 





 F(1) = (1)
16

 − 1 

  = 1 − 1 

  = 0 

 (x + 1), F(x)

(x + 1) (x − 1) F(x) †`Lv‡bv n‡jv)

G(x) + 
16

F(x)
 

(d)  

  G(x) + 
16

F(x)
 = − 

1

 1 − x
  

G(x) = x
n
 + an 

 n a 

G(− a) = (− a)n + an 

  = (− 1)n an + an 

  = − an + an [ n (− 1)n = − 1] 

  = 0 

  {x − (− a)} (x + a), a(x) 

a(x) = (x + a) Q(x) ...................(i) 

 G(x) x n. 

 (x + a) 1. 

  s(x) x (n − 1) 

 G(x) = xn + an 

  = (x − a) [xn − 1a.xn − 2 + a2xn − 3 −....... (−1)n − 2. an 

− 2. x + (− 1)n − 1 an − 1] .....................(ii) 

  [ xn + yn = (x + y) {xn − 1 − xn − 2y + xn − 3y2 

................ + (− 1)n − 2xyn − 2 + (− 1)n − 1yn − 1}] 

 (i) (ii)

 Q(x) = xn − 1 − axn − 2 + a2 xn − 3, a3xn − 4 + ........+(− 1)n − 1an − 1.  

(Ans.) 

 F(a, b, c) = (a + b + c)(ab + bc + ca) − abc

F(a, b, c) 

F(a, b, c)

F(a, b, c) 0 (a + b + c)
3
 = 

a
3
 + b

3
 + c

3

  17 bs cª‡kœi mgvavb   

F(a, b, c) = (a + b + c)(ab + bc + ca) − abc a

b, b c c a

 F(b, c, a) = (b + c + a)(bc + ca + ab) − bca 

  = (a + b + c)(ab + bc + ca) − abc 

  = F(a, b, c) 

  F(a, b, c)  

 F(a, b, c) = (a + b + c)(ab + bc + ca) − abc 

  = a
2
b + abc + ca

2
 + ab

2
 + b

2
c  

+ abc + abc + bc
2
 + c

2
a − abc 

 = a
2
b + abc + ca

2
 + ab

2
 + b

2
c + abc + bc

2
 + ac

2
 

 = a
2
b + ca

2
 + ab

2
 + abc + b

2
c + bc

2
 + abc + ac2 

 = a
2
(b + c) + ab(b + c) + bc(b + c) + ac(b + c) 

 = (b + c)(a2 + ab + bc + ac) 

 = (b + c){a(a + b) + c(a + b)} 

 = (b + c)(a + b)(a + c) 

 = (a + b)(b + c)(c + a) (Ans.) 

F(a, b, c) = 0 

(a + b + c)(ab + bc + ca) − abc = 0 

  (a + b + c)(ab + bc + ca) = abc 

(a + b + c)
3
 

 = (a + b + c)
3 
− 3abc + 3abc 

 = (a + b + c)
3 
− 3(a + b + c)(ab + bc + ca) + 3abc 

[ abc = (a + b + c)(ab + bc + ca)] 

 = (a + b + c){(a + b + c)
2
 − 3(ab + bc+ ca)} + 3abc 

 = (a + b + c)(a
2
 + b

2
 + c

2
 + 2ab + 2bc + 2ca − 3ab − 3bc −  

     3ca) + 3abc 

 = (a + b + c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) + 3abc 

 = a
3
 + b

3
 + c

3 
− 3abc + 3abc. 

 = a
3
 + b

3
 + c

3
 

  (a + b + c)
3
 = a

3
 + b

3
 + c

3 

 

 P(x) = x
3
 + 7x

2
 − x + a  Q(x) = x

4
 − 4x

3
 + 5x

2
 + 8x 

+ b.

{P( − 1) + Q( − 1)}

x P(x) = 0

P ( − 7) = 0

(x − 1) P(x) Q(x)

a + b + 17 = 0

  18 bs cª‡kœi mgvavb   

P(x) = x
3
 + 7x

2
 − x + a 

  P( − 1) = ( − 1)
3
 + 7( − 1)

2
 − ( − 1) + a 

  = − 1 + 7 + 1 + a 

  = 7 + a 

 Q(x) = x
4
 − 4x

3
 + 5x

2
 + 8x + b 

  Q( − 1) = (− 1)
4
 − 4( − 1)

3
 + 5 (− 1)

2 
+ 8 ( − 1) + b 

  = 1 + 4 + 5 − 8 + b 

  = 2 + b 

  P( − 1) + Q( − 1) = 7 + a + 2 + b 

                                 = a + b + 9 (Ans.) 

P(x) = x
3
 + 7x

2
 − x + a 

  P ( − 7) = ( − 7)
3
 + 7( − 7)

2
 − ( − 7) + a 

                = − 343 + 343 + 7 + a 

                = 7 + a 

P( − 7) = 0 

   7 + a = 0 

   a = − 7 

 P(x) = x
3
 + 7x

2
 − x − 7 

 = x2(x + 7) − 1(x + 7) 





 = (x2 − 1)(x + 7) 

 = (x + 1)(x − 1)(x + 7) 

P(x) = 0

  (x + 1)(x − 1)(x + 7) = 0 

   x = − 1 x = 1  x = − 7 

  x = −1 x = 1 x = 7 (Ans.) 

P(x) = x
3
 + 7x

2
 − x + a 

 (x − 1), P(x) P(1) = 0

 P(1) = (1)
3
 + 7(1)

2
 − 1 + a 

  0 = 1 + 7 − 1 + a 

  0 = 7 + a 

  7 + a = 0 

 a = − 7 

Q(x) = x
4
 − 4x

3
 + 5x

2
 + 8x + b 

 (x − 1), Q(x) Q(1) = 0 

 Q(1) = (1)
4
 − 4(1)

3
 + 5(1)

2
 + 8(1) + b 

  0 = 1 − 4 + 5 + 8 + b 

  0 = 10 + b 

  10 + b = 0 

  b = − 10 

a + b + 17 = − 7 − 10 + 17 = 0 

  a + b + 17 = 0 


1

a
3 + 

1

b
3 + 

1

c
3 = 

3

abc
 





1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2 
+ 



1

c
 − 

1

a

2

 = 0

bc + ca + ab = 0 a = b = c





1

a
 + 

1

b
 + 

1

c
 = 

3

3
abc

 a = b = c

  19 bs cª‡kœi mgvavb   

1

a
3 + 

1

b
3 + 

1

c
3 = 

3

abc

   



1

a
3
 + 



1

b
3
 + 



1

c
3
 − 3. 

1

a
 . 

1

b
 . 

1

c
 = 0 

   
1

2
 



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

   



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 





1

a
 + 

1

b
 + 

1

c
 = 0 

    
bc + ca + ab

abc
 = 0 

   bc + ca + ab = 0     

 



1

a
 − 

1

b

2

 = 0 

   
1

a
 − 

1

b
 = 0 

   
1

a
 = 

1

b
 

  a = b 





1

b
 − 

1

c
 
2

 = 0 

    
1

b
 − 

1

c
 = 0 

    
1

b
 = 

1

c
  

   b = c 

   a = b = c  





1

a
 + 

1

b
 + 

1

c
 = 

3

3
abc

 

   







1

3
a

3

 + 







1

3
b

3

 + 







1

3
c

3

 − 3. 
1

3
a

. 
1

3
b

. 
1

3
c

 = 0 

  
1

2
 









1

a

1

3

 

 + 
1

b

1

3

 

 + 
1

c

1

3

 

 



















1

a

1

3

 

 − 
1

b

1

3
 

 

2

 + 









1

b

1

3
 

 

 − 
1

c

1

3

 

2

 + 









1

c

1

3
 

 

  − 
1

a

1

3
 

  

2

  = 0 

1

2
 









1

a

1

3

 

 +
1

b

1

3

 

 + 
1

c

1

3

 

 = 0 









1

a

1

3

 

 − 
1

b

1

3

 

2

 + 









1

b

1

3

 

 − 
1

c

1

3

 

2

 + 









1

c

1

3

 

 − 
1

a

1

3

 

2

 = 0 

   









1

a

1

3

 

 − 
1

b

1

3

 

2

 = 0 

   a

1

3

 
 = b

1

3

 
 

   a = b 









1

b

1

3

 

 − 
1

c

1

3

 

2

 = 0 

   c

1

3

 
 = b

1

3

 
 

   c = b 

   a = b = c 

 x P(x) = 2x
3
 + 3x

2
 − 3x − a Q(x) = 

2x
3
 − 7x

2
 + 7x − 2





Q



1

2

x + 2, P(x) a 

P(x) Q(x)

  20 bs cª‡kœi mgvavb   

Q(x) = 2x
3
 − 7x

2
 + 7x − 2 

  Q



1

2
 = 2



1

2

3

 − 7



1

2

2

 + 7



1

2
 − 2 

  = 2.
1

8
 − 7.

1

4
 + 7.

1

2
 − 2 

  = 
1

4
 − 

7

4
 + 

7

2
 − 2 

  = 
1 − 7 + 14 − 8

4
 

  = 
15 − 15

4
 = 0 (Ans.) 

x + 2, P(x) P( − 2) = 0

P( − 2) = 2( − 2)
3
 + 3( − 2)

2
 − 3( − 2) − a 

  = 2( − 8) + 3.4 + 6 − a 

  = − 16 + 12 + 6 − a 

  = 2 − a 

   2 − a = 0 

   a = 2 

 a 2.

x + b, P(x)  Q(x) 

b  0  

P( − b) = 2( − b)
3
 + 3( − b)

2
 − 3(− b) − 2  

  = −2b
3
 + 3b

2
 + 3b − 2 

 Q( − b) = 2( − b)
3
 − 7( − b)

2
 + 7(− b) − 2 

  = − 2b
3
 − 7b

2
 − 7b − 2 

− 2b
3
 + 3b

2
 + 3b − 2 = 0 ..................... (i)

− 2b
3
 − 7b

2
 − 7b − 2 = 0 ..................... (ii)

i ii

     3b
2
 + 7b

2
 + 3b + 7b = 0 

  10b2 + 10b = 0 

 10b (b + 1) = 0 

b  0 

 b + 1 = 0 

  b = − 1 

  P(x) Q(x) (x − 1) 

 x, y  z 

  F(x, y, z) = 
1

x
3 + 

1

y
3 + 

1

z
3 − 

3

xyz

F(x, y, z)

F(x, y, z) = 0 x = y = z

xy + yz + zx = 0

xy + yz + zx = 0

1

x
2
 − yz

 + 
1

y
2
 − zx

    + 
1

z
2
 − xy

 = 0

  21 bs cª‡kœi mgvavb   

F(x, y, z) = 
1

x
3 + 

1

y
3 + 

1

z
3 − 

3

xyz
 

 F(x, y, z) F(x, y, z) = 

F(y, z, x)

F(y, z, x) = 
1

y
3 + 

1

z
3 + 

1

x
3 − 

3

yzx
 

  = 
1

x
3 + 

1

y
3 + 

1

z
3 − 

3

 xyz
 

  = F(x, y, z) 

F(x, y, z) 

F(x, y, z) = 0 

  
1

x
3 + 

1

y
3 + 

1

z
3 − 

3

 xyz
 = 0 

   
1

2
 



1

x
 + 

1

y
 + 

1

z
 












1

x
 − 

1

y
2
 + 



1

y
 − 

1

z
2
 + 



1

z
 − 

1

x
2

 = 0 

1

x
 + 

1

y
 + 

1

z
 = 0 

   
yz + zx + xy

xyz
 = 0 

  xy + yz + zx = 0 













1

x
 − 

1

y

2

 + 



1

y
 − 

1

z

2

 + 



1

z
 − 

1

x

2

 = 0 

 



1

x
 − 

1

y
2
 = 0  



1

y
 − 

1

z
2
 = 0 



1

z
 − 

1

x
2
 = 0 

   
1

x 
 − 

1

y
 = 0  

1

y 
 − 

1

z
 = 0

1

z
 − 

1

x 
 = 0

   
1

x 
 = 

1

y
    

1

y 
 = 

1

z
 
1

z
 = 

1

x 
 

   x = y     y = z   z  = x

 x = y  = z 

xy + yz + zx = 0 

   xy + yz = − zx 

   y
2
 + xy + yz = y

2
 − zx 

   y (x + y + z) = y
2
 − zx 

  
1

y
2
 − zx

 = 
1

y(x + y + z)
 

xy + yz + zx = 0 

    yz + zx = − xy 

    z2 + yz + zx = z2 − xy 

    z(z + y + x) = z
2
 − xy 

    z(x + y + z) = z
2
 − xy 

   
1

z
2
 − xy

 = 
1

z(x + y + z)
 

1

x
2
 − yz

 = 
1

x(x + y + z)
 





 
1

x
2
 − yz

 + 
1

y
2
 − zx

 + 
1

z
2
 − xy

  = 
1

x(x + y + z)
  

 + 
1

y(x + y + z)
 + 

1

z(x + y + z)
 

  = 
0

xyz(x + y + z)
 = 0 

  
1

x
2
 − yz

 + 
1

y
2
 − zx

 + 
1

z
2
 − xy

 = 0 

 F(a, b, c) = 
a

3
 − 1

(a − b)(a − c)
 + 

b
3
 − 1

(b − c)(b − a)
 + 

c
3
 − 1

(c − a)(c − b)

F(a, b, c)

F(a, b, c)

F(a, b, c) 0

a
3
 + b

3
 + c

3
 = 3abc.

  22 bs cª‡kœi mgvavb   

F(a, b, c) = 
a

3
 − 1

(a − b)(a − c)
 + 

b
3
 − 1

(b − c)(b − a)
 + 

c
3
 − 1

(c − a)(c − b)
 

  F(b, c, a) = 
b

3
 − 1

(b − c)(b − a)
 + 

c
3
 − 1

(c − a)(c − b)
 + 

a
3
 − 1

(a − b)(a − c)
 

  

             = F(a, b, c) 

F(c, b, a) = 
c

3
 − 1

(c − b)(c − a)
 + 

b
3
 − 1

(b − a)(b − c)
 + 

a
3
 − 1

(a − c)(a − b)
 

  = F(a, b, c) 

  F(a, b, c) 

F(a, b, c) = 
a

3
 − 1

(a − b)(a − c)
 + 

b
3
 − 1

(b − c)(b − a)
 + 

c
3
 − 1

(c − a)(c − b)
 

 = 
a

3
 − 1

− (a − b) (c − a)
 + 

b
3
 − 1

− (b − c)(a − b)
 + 

c
3
 − 1

− (c − a)(b − c)
 

 = 
(a3 − 1)(b − c) + (b3 − 1)(c − a) + (c3 − 1)(a − b)

−(a − b)(b − c)(c − a)
 

 = 
{a3(b − c) + b3(c − a) + c3(a − b)} − {(b − c) + (c − a) + (a − b)}

− (a − b)(b − c)(c − a)
 

 = 
−(a − b)(b − c)(c − a)(a + b + c)

−(a − b)(b − c)(c − a)
 

 = a + b + c (Ans.) 

F(a, b, c) = 0 F(a, b, c) = a + b + c 

  a + b + c = 0 a + b = − c 

a
3
 + b

3
 + c

3
 

  = (a + b)
3
 − 3ab(a + b) + c

3
 

  = ( − c)
3
 − 3ab ( − c) + c

3
 

  = − c
3
 + 3abc + c

3
 

  = 3abc 

  a3 + b3 + c3 = 3abc 

 

 F(a, b, c) = a
3
 + b

3
 + c

3
 − 3abc

F(a, b, c) 

F(a, b, c)

F(a, b, c) = 0 a + b + c = 0

a = b = c

  23 bs cª‡kœi mgvavb   

F(a, b, c) 3

 F(a, b, c)

F(a, b, c) a b, b c c a

 F(b, c, a) = b
3
 + c

3
 + a

3
 − 3bca; F(a, b, c)

 F(a, b, c)

F(a, b, c) = a
3
 + b

3
 + c

3
 − 3abc 

  = (a + b)
3
 − 3ab (a + b) + c3 − 3abc 

  = (a + b)
3
 + c

3
 − 3ab(a + b) − 3abc 

  = (a + b + c) {(a + b)
2
 − (a + b) c + c

2
} − 3ab (a + b + c) 

  = (a + b + c) (a2 + 2ab + b2 − ac − bc + c2 − 3ab) 

  = (a + b + c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) 

  = 
1

2
 (a + b + c) {2a

2 + 2b
2
 + 2c

2
 − 2ab − 2bc − 2ca} 

  = 
1

2
 (a + b + c){(a − b)

2
 + (b − c)

2
 + (c − a)

2
} 

 F(a, b, c) = (a + b + c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) 

              = 
1

2
 (a + b + c) {(a − b)

2
 + (b − c)

2
 + (c − a)

2
} (Ans.) 

F(a, b, c) = 0 

  a
3
 + b

3
 + c

3 
− 3abc = 0 

   
1

2
 (a + b + c){(a − b)

2
 + (b − c)

2
 + (c − a)

2
} = 0 

 a + b + c = 0

(a − b)
2
 + (b − c)

2
 + (c − a)

2
 = 0 

0

 (a − b)
2
 = 0 

   a − b = 0 

 a = b 

(b − c)
2
 = 0 

    b − c = 0 

    b = c 

   a = b = c

 

  f(x) = 
x

3
 − 2x

2
 + 1

x
2
 − 2x − 3

 g(y) = z2y − 32y + 2 + 32 

 f(1) f(− 1)

g(y) = 0 y 

f(x)

  24 bs cª‡kœi mgvavb   

f(1) = 
1

3
 − 2.1

2
 + 1

1
2
 − 2.1 − 3

 = 
0

1 − 5
 = 0 





 f(−1) = 
( − 1)

3
 − 2( − 1)

2
 + 1

( − 1)
2
 − 2( − 1) − 3

 = 
− 1 − 2 + 1

1 + 2 − 3
 = 

− 2

 0
 

− 2

 0
 (Ans.) 

g(y) = 22y − 32y + 2 + 32 

 22y − 3.2y + 2 + 32 = 0       [ g(y) = 0] 

 22y − 3.2y.22 + 32 = 0 

 22y − 3.2y.4 + 32 = 0 

 (2y)2 − 12.2y + 32 = 0 

 x2 − 12x + 32 = 0       [  2y = x] 

 x2 − 8x − 4x + 32 = 0 

 (x − 8)(x − 4) = 0 

 x − 8 = 0 x − 4 = 0 

 x = 8 x = 4 

 2y = 23 2y = 22 

  y = 3  y = 2 

 y = 2, 3 

f(x) = 
x

3
 − 2x

2
 + 1

x
2
 − 2x − 3

 

  = 
x(x

2
 − 2x − 3) + 3x + 1

 x
2
 − 2x − 3

 

  = x + 
3x + 1

x
2
 − 3x + x − 3

 

  = x + 
3x + 1

x(x − 3) + 1 (x − 3)
 

  = x + 
3x + 1

(x − 3)(x + 1)
 ......................(i) 

3x + 1

(x − 3)(x + 1)
  

A

x − 3
 + 

B

x + 1
   ...(ii) 

  (ii) (x − 3)(x + 1)

 3x + 1 ≡ A(x + 1) + B(x − 3)      (iii) 

  (iii) x = − 1  

 3  ( − 1) + 1 = A( − 1 + 1) + B( − 1 − 3) 

   − 2 = B  (− 4) 

   B = 
− 2

− 4
 = 

1

2
 

(iii) x = 3 

 3  3 + 1 = A(3 + 1) + B(3 − 3) 

   10 = A  4 

   A = 
10

4
 = 

5

2
  

  (ii) A  B 

 
3x + 1

(x − 3)(x + 1)
 = 

5

2

x − 3
 + 

1

2

x + 1
  

   = 
5

2(x − 3)
 + 

1

2(x + 1)
 

  f(x) = 
x

3
 − 2x

2
 + 1

x
2
 − 2x − 3

 = x + 
5

2(x − 3)
 + 

1

2(x + 1)
 

 F(a, b, c) = 
1

a
3 + 

1

b
3 + 

1

c
3 − 

3

abc

F(a, b, c)

F(a, b, c)

F(a, b, c) 0 ab + bc + ca = 0

a = b = c

  25 bs cª‡kœi mgvavb   

F(a, b, c) 3

 F(a, b, c) = 
1

a
3 + 

1

b
3 + 

1

c
3 − 

3

abc

a b, b c c a

 F(a, b, c) = 
1

b
3 + 

1

c
3 + 

1

a
3 − 

3

bca
 = F(a, b, c) 

  F(b, c, a )

 F(a, b, c)

F(a, b, c) =  
1

a
3 + 

1

b
3 + 

1

c
3 − 

3

 abc
 

 = 



1

a

3

 + 



1

b

3

 + 



1

c

3

 − 3. 
1

a
 . 

1

b
 . 

1

c
 

 = 



1

a
 + 

1

b
 + 

1

c
 












1

a

2

 + 



1

b

2

 + 



1

c

2

− 
1

a
 . 

1

b
 − 

1

b
 . 

1

c
 − 

1

c
 . 

1

a

 = 



1

a
 + 

1

b
 + 

1

c 



1

a
2 + 

1

b
2 + 

1

c
2 − 

1

ab
 − 

1

bc
 − 

1

ca
 (Ans.) 

F(a, b, c) = 0 

  
1

a
3 + 

1

b
3 + 

1

c
3 − 

3

 abc
 = 0 

  
1

2
 



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2 
+ 



1

c
 − 

1

a

2

 = 0 

  
bc + ca + ab

abc
 = 0 

   bc + ca + ab = 0 





1

a
 − 

1

b

2

 + 



1

b
 −

1

c

2

 + 



1

c
 −

1

a

2

 = 0 

     



1

a
 − 

 1

b
2
 = 0 

  
1

a
 − 

1

b
 = 0 

  
1

a
 = 

1

b
  

  a = b 





1

b
 − 

1

c
2
 = 0 

  
1

b
 −  

1

c
 = 0 

  
1

b
 = 

1

c
  

  b = c 

a = b = c 

 F(a, b, c) = (a − b)
3
 + (b − c)

3
 + (c − a)

3
 

F (a, b, c) = a(b
2
 − c

2
) + b(c

2
 − a

2
) + c(a

2
 − b

2
)

F(a, b, c) = 3(a − b)(b − c)(c − a)

F(a, b, c)

a
2
 + (b − c)

2

(a − b)(c − a)

b
2
 + (c − a)

2

(a − b)(b − c)





c
2
 + (a − b)

2

(b − c)(c − a)
 

  26 bs cª‡kœi mgvavb   

F(a, b, c) = (a − b)3 + (b − c)3 + (c − a) 3

a − b = x 

   b − c = y 

c − a = z 

  x + y + z = 0 

x3 + y3 + z3 − 3xyz = (x + y + z) 

(x2 + y2 + z2 − xy − yz − zx) 

  x3 + y3 + z3 − 3xyz = 0  (x2 + y2 + z2 − xy − yz − zx) 

  x3 + y3 + z3 − 3xyz = 0 

  x3 + y3 + z3 = 3xyz 

  (a − b)3 + (b − c)3 + (c − a)3 = 3(a − b)(b − c)(c − a)

F(a, b, c) = a(b
2
 − c

2
) + b(c

2
 − a

2
) + c(a

2
 − b

2
) 

 = a(b
2
 − c

2
) + bc

2
 − a

2
b + ca

2
 − b

2
c 

 = a(b
2
 − c

2
) − bc (b − c) − a

2
(b − c) 

 = (b − c){a(b + c) − bc − a
2
} 

 = (b − c){ab + ac − bc − a
2
} 

 = (b − c){c(a − b) − a(a − b)} 

 = (b − c)(a − b)(c − a) 

 = (a − b)(b − c)(c − a) (Ans.) 

a2 + (b − c)2

(a − b)(c − a)
 + 

b2 + (c − a)2

(a − b)(b − c)
 + 

c2 + (a − b)2

(b − c)(c − a)
 

 = 
{a2 + (b − c)2}(b − c) + {b2 + (c − a)2} (c − a) + {c2 + (a − b)2}(a − b)

(a − b)(b − c)(c − a)

 = 
a

2
(b − c) + (b − c)

3
 + b

2
(c − a)

 
+ (c − a)

3
 + c

2
(a − b)

 
+ (a − b)

3

(a − b)(b − c)(c − a)
 

 = 
{a

2
(b − c) + b

2
(c − a) + c

2
(a − b)} + {(a − b)

 3
 + (b − c)

 3
 + (c − a)

 3
}

(a − b)(b − c)(c − a)
     

 = 
{a2(b − c) + b2c − ab2 + c2a − c2b} + 3(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 

 = 

{a
2
(b − c) + bc(b − c) − a(b

2
 − c

2
)} + 3(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 

 = 
{(b − c)} {a

2
 + bc − ab − ac} + 3(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 

 = 
{(b - c)} a(a − b) − c(a − b)} + 3(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 

 = 
− (b − c)(a − b)(c − a) + 3(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 

 = 
2(a − b)(b − c)(c − a)

(a − b)(b − c)(c − a)
 = 2 (Ans.) 

 

 (a) = a
2
(b − c) + b

2
(c − a) + c

2
(a − b)

a − b, (a) 

(a) 

 
a2

(a − b)(a − c)
 + 

b2

(b − c)(b − a)
 + 

c2

(c − a)(c − b)

  27 bs cª‡kœi mgvavb   

(a) = a
2
(b − c) + b

2
(c − a) + c

2
(a − b) 

  (b) = b
2
(b − c) + b

2
(c − b) + c

2
(b − b) 

  = b
3
 − b

2
c + b

2
c − b

3
 + 0 = 0 

(b) = 0, (a − b), (a)

(a) = a
2
(b − c) + b

2
(c − a) + c

2
(a − b) 

 = a
2
(b − c) + b

2
c − ab

2
 + ac

2
 − bc

2 

 = a2(b − c) + bc(b − c) − a(b
2
 − c

2
) 

 = (b − c){a
2
 + bc − a(b + c)} 

 = (b − c){a
2
 + bc − ab − ac} 

 = (b − c){a(a − b) − c(a − b)} 

 = (b − c)(a − b)(a − c) 

 = − (a − b)(b − c)(c − a) (Ans.) 

 
a

2

(a − b)(a − c)
 + 

b
2

(b − c)(b − a)
 + 

c
2

(c − a)(c − b)
 

 = 
a

− (a − b)(c − a)
 + 

b
2

−(b − c)(a − b)
 + 

c
2

−(c − a)(b − c)
 

 = 
a

2
(b − c) + b

2
(c − a) + c

2
(a − b)

 −(a − b)(b − c)(c − a)
 

 = 
− (a − b)(b − c)(c − a)

 −(a − b)(b − c)(c − a)
       [ ] 

 = 1 (Ans.) 

 x (x + 3), (x2 −  9) ,  x3

  28 bs cª‡kœi mgvavb   

x + 3 

x2 − 9 = (x + 3)(x − 3) 

x3 

x + 3

 (x + 3)(x − 3)
 = 

1

x − 3
 ; 

x3

 x2 − 9

x3

 x2 − 9
 

x3

 x2 − 9
 = 

x3 − 9x + 9x

x2 − 9
 

 = 
x(x2 − 9) + 9x

x2 − 9
 

 = 
x(x2 − 9)

(x2 − 9)
 + 

9x

x2 − 9
 





 = x + 
9x

x2 − 9
 = x + 

9x

(x + 3)(x − 3)
 

9x

(x + 3)(x − 3)
 

9x

(x + 3)(x − 3)
 

9x

(x + 3)(x − 3)
 ≡ 

A

x + 3
 + 

B

x − 3
 .............. (i)

(i) (x + 3)(x − 3) 

 9x ≡ A(x − 3) + B(x + 3) .................... (ii) 

(ii) x = 3 

     9  3 = A(3 − 3) + B(3 + 3) 

  27 = A  0 + B  6 

  27 = 6B 

  B = 
9

2
 

(ii) x = − 3

 9 (− 3) = A( − 3 − 3) + B( − 3 + 3) 

  − 27 = − 6A + B  0 

  A = 
9

2
 

 A B (i)-

 
9x

(x + 3)(x − 3)
 = 

9

2

x + 3
 + 

9

2

x − 3
 

  
9x

(x + 3)(x − 3)
 = 

9

2(x + 3)
 + 

9

2(x − 3)
 (Ans.) 

 5x3 + 6x2 − 32x + 6 x 

x 

x 

P(x) x − 2 

P(x) x − 2 



  29 bs cª‡kœi mgvavb   

x 6 x 0  

x − 2 5x3 + 6x2 − 32x + 

6 

5x3 − 10x2 

5x2 + 16x 

  16x2 − 32x 

 16x2 − 32x 

 

 6  

5x2 + 16x. 

P(x) (x − 2) 

P(2). 

  P(2) = 5.23 + 6.22 − 32.2 + 6 

  = 40 + 24 − 64 + 6 

  = 70 − 64 = 6 

 x − 2 

  5x2 + 16x 

  5x3 + 16x2 − 32x + 6 6 

 

= (x − 2)(5x2 + 16x) + 6 

  = 5x3 + 16x2 − 10x2 − 32x + 6 

  = 5x3 + 6x2 − 32x + 6 

  

 

 P(x) = x3 + 6x2 + 7x + 10 −

P 



1

m
 r = 0]

P(x) 

P(x) (x − a) (x − b)

a  b, 

 a2 + b2 + ab + 6a + 6b + 7 = 0

  30 bs cª‡kœi mgvavb   

P(x) = x3 + 6x2 + 7x + 10 

  P



1

m
 = 



1

m

3

 + 6 



1

m

2

 + 7
1

m
 + 10 

  = 
1

m3 + 
6

m2 + 
7

m
 + 10 

  = 
1 + 6m + 7m2 + 10m3

m3  

  = 
10m3 + 7m2 + 6m + 1

m3  (Ans.) 

P(−5) = (−5)3 + 6(−5)2 + 7(−5) + 10 

  = − 125 + 150 − 35 + 10 

  = 0 

  (x + 5), P(x) 

 x3 + 6x2 + 7x + 10 

 = x3 + 5x2 + x2 + 5x + 2x + 10 

 = x2(x + 5) + x(x + 5) + 2(x + 5) 

 = (x + 5) (x2 + x + 2) 

 = (x + 5) (x2 + 2x + x + 2) 

 = (x + 5) {x(x + 2) + 1(x + 2)} 

 = (x + 5)(x + 2) (x + 1) 

  P(x) (x + 5)(x + 2) (x + 1) (Ans.) 

P(x) x − a 

P(a) = a3 + 6a2 + 7a + 10 

 P(x) x − b 

P(b) = b3 + 6b2 + 7b + 10 

 a3 + 6a2 + 7a + 10 = b3 + 6b2 + 7b + 10 

 a3 − b3 + 6(a2 − b2) + 7(a − b) = 0 

 (a − b) (a2 + b2 + ab + 6a + 6b + 7) = 0 

  a2 + b2 + ab + 6a + 6b + 7 = 0 (  

 P(x) = 
x  1

x2 − 7x + 12
, g(x) = (1 + x) 

1

3 + (1 − x) 

1

3

P(−2) 

P(x) 





g(x) =  2 

1

3

 
 x 

  31 bs cª‡kœi mgvavb   

P(x) = 
x + 1

x2 − 7x + 12
  

   P(−2) = 
−2 + 1

(−2)2 − 7(− 2) + 12
 

  = 
− 1

4 + 14 + 12
 = − 

1

30
 (Ans.) 

P(x) = 
x + 1

x2 − 7x + 12
 = 

x + 1

x2 − 4x − 3x + 12
 

 = 
x + 1

x(x − 4) − 3(x − 4)
 

 = 
x + 1

(x − 4)(x − 3)
 

 
x + 1

x2 − 7x + 12
 = 

x + 1

(x − 4)(x − 3)
 

 
x + 1

(x − 4)(x − 3)
  

A

x − 4
 ≡ 

B

x − 3
 ..................(i) 

 (i) (x − 4) (x − 3) 

x + 1 ≡ A(x − 3) + B(x − 4) .................(ii) 

 x = 3 

3 + 1 = − B 

  B = − 4 

 x = 4 

4 + 1 = A 

  A = 5 

 A  B (i) -

x + 1

(x − 4)(x − 3)
 = 

5

x − 4
 − 

4

x − 3
 (Ans.)

g(x) = (1 + x)

1

3

 
 + (1 − x)

1

3

 
 

 g(x) = 2 

1

3

 
 

  ( )1 + x

1

3

 
 + ( )1 − x

1

3

 
 = 2 

1

3

 
 

 








( )1 + x

1

3

 
 + ( )1 − x

1

3

 

3

 = 








2

1

3

 

3

 

  (1 + x + 1 − x) + 3( )1 + x

1

3

 
 ( )1 − x

1

3

 







( )1 + x

1

3

 
 + ( )1 − x

1

3

 
 = 2 

  2 + 3 ( )1 − x

1

3

 
 . 2 

1

3

 
 = 2 

 3( )1 − x

1

3

 
 . 2 

1

3

 
 = 0 

 3( )1 − x

1

3

 
 = 0 

 1 − x = 0 

  x = 1 (Ans.) 



P(x) = x3 + 6x2 + 11x + 6 

Q(x) = x4 + 7x3 + 17x2 + 17x + k 

R(x) = x3 − x2 − 10x − 8

R(x) 

Q(x) 3x + 2 k 

x2

P(x)
 

  32 bs cª‡kœi mgvavb   

f(x) = x2 − x2 − 10x − 8 

  f(− 1) = (− 1)3 − (−1)2 − 10 (−1) − 8 

  = − 1 − 1 + 10 − 8 = 0 

  {x − (−1)} = x + 1 

 (x + 1), f(x)  

x3 − x2 − 10x − 8 

 = x3 + x2 − 2x2 − 2x − 8x − 8 

 = x2 (x + 1) − 2x(x + 1) − 8(x + 1) 

 = (x + 1)(x2 − 2x − 8) 

 = (x + 1)(x2 − 4x + 2x − 8) 

 = (x + 1) {x(x − 4) + 2(x − 4)} 

 = (x + 1)(x − 4)(x + 2) (Ans.) 

Q(x) (3x + 2) 








x − 



−

2

3
 

 Q(x) = x4 + 7x3 + 17x2 + 17x + k 

  Q 



− 

2

3
 = 0 

 



− 

2

3

4

 + 7 



− 

2

3

3

+ 17 



− 

2

3

2

 + 17



− 

2

3
 + k = 0 

 
16

81
 − 

7  8

27
 + 17  

4

9
 − 

34

3
 + k = 0 

 
16

81
 − 

56

27
 + 

68

9
 − 

34

3
 + k = 0 

  
16 − 168 + 612 − 918 + 81k

81
 = 0 

  − 458 + 81k = 0 

  k = 5 
53

81
 

 k 5 
53

81

x2

P(x)
 

P(x) = x3 + 6x2 + 11x + 6

  P(−1) = (−1)3 + 6(−1)2 + 11(− 1) + 6 





  = −1 + 6 − 11 + 6 

  = 0 

  {x − (−1)} (x + 1), P(x) 

x3 + 6x2 + 11x + 6 

  = x3 + x2 + 5x2 + 5x + 6x + 6 

  = x2(x + 1) + 5x(x + 1) + 6(x + 1) 

  = (x + 1)(x2 + 5x + 6) 

  = (x + 1) (x2 + 3x + 2x + 6) 

  = (x + 1){x(x + 3) + 2(x + 3)} 

  = (x + 1)(x + 2)(x + 3) 

  
x2

P(x)
 = 

x2

(x + 1)(x + 2)(x + 3)
 

x2 

(x + 1)(x + 2)(x + 3)
    

A

(x + 1)
 + 

B

(x + 2)
 + 

C

(x + 3)
 ...........(i) 

  (i) (x + 1)(x + 2)(x+ 3) 

x2 ≡ A(x + 2)(x + 3) + B(x + 1)(x + 3) + C (x + 1)(x + 2) ....(ii) 

  (ii) x = −1 

(−1)2 = A(−1 + 2)( − 1 + 3) + B(− 1 + 1) (− 1 + 3)  

+ C(− 1 + 1)(− 1 + 2) 

 1 = A(1)(2) 

 2A = 1 

  A = 
1

2
 

  (ii) x = − 2 

(−2)2 = A(−2 + 2)(− 2 + 3) + B(− 2 + 1)( − 2 + 3)  

+ C (−2 + 1) (−2 + 2) 

 4 = B(− 1)(1) 

 −B = 4 

  B = − 4 

  (ii) x = − 3 

 (−3)2 = A(−3 + 2)(− 3 + 3) + B(− 3 + 1) (− 3 + 3)  

+ C(− 3 + 1) (− 3 + 2) 

 9 = C(− 2)(−1) 

 2C = 9 

  C = 
9

2
 

 A, B C  (i) 

x2

(x + 1)(x + 2)(x + 3)
 = 

1

2

x + 1
 + 

− 4

x + 2
 + 

9

2

x + 3
 

  
x2

P(x)
 = 

1

2(x+ 1)
 − 

4

x + 2
 + 

9

2(x + 3)
 

(Ans.) 

 P(x) = x3 + 5x2 + 6x + 8

P(x)  x − a

 P(a)

 a  b  P(a) = P(b)  a2 

+ b2 + ab + 5a + 5b + 6 = 0

  33 bs cª‡kœi mgvavb   

P(x) = x3 + 5x2 + 6x + 8 

 P(x) (x − a) P(a) 

 P(a) = a3 + 5a2 + 6a + 8 (Ans.) 

P(x) = x3 + 5x2 + 6x + 8 

 x = − 4 P(− 4) = (− 4)3 + 5 (− 4)2 + 6(− 4) + 8 

  = − 64 + 80 − 24 + 8 

  = − 88  + 88 

  = 0 

  (x + 4), P(x) 

 x3 + 5x2 + 6x + 8 

 = x3 + 4x2 + x2 + 4x + 2x + 8 

 = x2(x + 4) + x(x + 4) + 2(x + 4) 

 = (x + 4)(x2 + x + 2) (Ans.) 

P(x) = x3 + 5x2 + 6x + 8 

  P(a) = a3 + 5a2 + 6a + 8 

 P(b) = b3 + 5b2 + 6b + 8 

  P(a) = P(b) 

 a3 + 5a2 + 6a + 8 = b3 + 5b2 + 6b + 8 

 a3 − b3 + 5a2 − 5b2 + 6a − 6b + 8 − 8 = 0 

 a3 − b3 + 5(a2 − b2) + 6(a − b) = 0 

 (a − b){a2 + ab + b2 + 5 (a + b) + 6} = 0 

 (a − b)(a2 + ab + b2 + 5a + 5b + 6) = 0 

 (a − b) = 0 (a2 + ab + b2 + 5a + 5b + 6) = 0 

 a − b  0 

  a  b  

  a2 + ab + b2 + 5a + 5b + 6 = 0 

 a2 + b2 + ab + 5a + 5b + 6 = 0

 i) P(x) = 5x3 + 6x2 − ax + 6 

  ii) R = 
1

a3 + 
1

b3 + 
1

c3 − 
3

abc
 

 iii) 
x2 − yz

a
 = 

y2 − zx

b
 = 

z2 − xy

c

(x − 2) P(x) 6 

a 

R = 0 a = b = c 

ab + bc + ca = 0

(iii) k 

(a + b + c) (x + y + z) = ax + by + cz

  34 bs cª‡kœi mgvavb   

P(x) = 5x3 + 6x2 − ax + 6 

 (x − 2) P(x) P(2)

 P(2) = 5.23 + 6.22 − a.2 + 6 

 P(2) = 40 + 24 + 6 − 2a 

 P(2) = 70 − 2a 

 P(2) = 6 

  70 − 2a = 6 

  70 − 6 = 2a 





  64 = 2a 

  a = 
64

2
 

          a = 32 

 a 32

R = 
1

a3 + 
1

b3 + 
1

c3 − 
3

abc
 

 
1

a3 + 
1

b3 + 
1

c3 − 
3

abc
 = 0 

 



1

a

3

 + 



1

b

3

 + 



1

c

3

 − 3 
1

a
  

1

b
  

1

c
 = 0 

 
1

2
 



1

a
 + 

1

b
 + 

1

c
 












1

a
 − 

1

b

2
 + 



1

b
 − 

1

c

2 +  




1

c
 − 

1

a

2
 = 0 

   
1

a
 + 

1

b
 + 

1

c
 = 0 

 
bc + ca + ab

abc
 = 0 

  bc + ca + ab = 0 

 



1

a
 − 

1

b

2

 + 



1

b
 − 

1

c

2

 + 



1

c
 − 

1

a

2

 = 0 

 





1

a
 − 

1

b

2

 = 0  



1

b
 − 

1

c

2

 = 0 



1

c
 − 

1

a

2

 = 0 

 
1

a
 − 

1

b
 = 0 

1

b
 − 

1

c
 = 0 

1

c
 − 

1

a
 = 0 

 
1

a
 = 

1

b
 

1

b
 = 

1

c
 

1

c
 = 

1

a
 = 0 

  a = b  b = c  c = a 

  a = b = c 

 
1

a3 + 
1

b3 + 
1

b3 = 
3

abc
 ab + bc + ca = 0 a = b = c 

x2 − yz

a
 = 

y2 − zx

b
 = 

z2 − xy

c
 

  
x2 − yz

a
 = 

y2 − zx

b
 = 

z2 − xy

c
 = k 

 
x2 − yz

a
 = k 

 
x2 − yz

k
 = a .............(i) 

 
y2 − zx

b
 = k

  
y2 − zx

k
 = b ................(ii) 

 
z2 − xy

c
 = k 

  
z2 − xy

k
 = c ................(iii) 

 (a + b + c)(x + y + z) 

 = 




x2 − yz

k
 + 

y2 − zx

k
 + 

z2 − xy

k
 (x + y + z) [(i), (ii) (iii)  





x2 − yz + y2 − zx + z2 − xy

k
 (x + y + z) 

 = 
1

k
 (x + y + z) (x2 + y2 + z2 − xy − yz − zx) 

 = 
1

k
 (x3 + y3 + z3 − 3xyz) 

 = 
1

k
 (x3 − xyz + y3 − xyz + z3 − xyz) 

 = 
1

k
 {x(x2 − yz) + y(y2 − zx) + z(z2 − xy)} 

 = x 
(x2 − yz)

k
 + y 

(y2 − zx)

k
 + z 

(z2 − xy)

k
 

 = ax + by + cz           [(i), (ii) (iii) 

 a + b + c)(x + y + z) = ax + by + cz 


x3 + 2x2 + 1

x2 + 2x − 3
 

x − 3 

x − a x − b 

a  b 

a2 + ab + b2 + 2a + 2b = 0

  35 bs cª‡kœi mgvavb   

(x) = x2 + 2x − 3 

 (x) = x2 + 2x − 3 (x − 3) 

(3) 

  (3) = 32 + 2.3 − 3 

  = 9 + 6 − 3 

  = 12 

 (x − 3) 12 (Ans.)

 

P(x) = x3 + 2x2 + 1 

 P(x) (x − a) (x − b) 

P(a) P(b) 

  P(a) = a3 + 2a2 + 1 

 P(b) = b3 + 2b2 + 1 

 P(a) = P(b) 

  a3 + 2a2 + 1 = b3 + 2b2 + 1 

  a3 − b3 + 2a2 − 2b2 + 1 − 1 = 0 

  a3 − b3 + 2(a2 − b2) = 0 

  (a − b)(a2 + ab + b2) + {2(a + b) (a − b)} = 0 

  (a − b)(a2 + ab + b2 + 2a + 2b) = 0 

  a − b = 0 a2 + ab + b2 + 2a + 2b = 0 

  a − b  0  a  b 

  a2 + ab + b2 + 2a + 2b = 0  (

x3 + 2x2 + 1

x2 + 2x  3
 = 

x(x2 + 2x − 3) + 3x + 1

(x2 + 2x − 3)
 = x + 

3x + 1

(x + 3)(x − 1)
 

 
3x + 1

(x + 3)(x − 1)
 





3x + 1

(x + 3)(x − 1)
  ≡ 

A

x + 3
 + 

B

x − 1
 .............(i) 

 (i) (x + 3)(x − 1) 

3x + 1 ≡ A(x − 1) + B(x + 3) ..................(ii) 

 (ii) x = 1 

31 + 1 = A(1 − 1) + B(1 + 3) 

 3 + 1 = A  0 + B.4 

 4 = 4B 

  B = 1 

 (ii) x = − 3 

3(− 3) + 1 = A(− 3 − 1) + B(− 3 + 3) 

 − 9 + 1 = A(− 4) + B  0 

− 8 = − 4A 

  A = 2 

 A B (i)

3x + 1

(x + 3)(x − 1)
  = 

2

 x + 3
 + 

1

x − 1
 

 

x3 + 2x2 + 1

x2 + 2x − 3
 = x + 

1

x − 1
 + 

2

x + 3
  

 P(x) = x2 − 9x − 6, Q(x) = x3 + x2 − 6x

P(x) x + 2 

Q(x) 

P(x)

Q(x)
 

  36 bs cª‡kœi mgvavb   

P(x) = x2 − 9x − 6 

 P(x) x + 2 P(−2). 

 P(−2) = (−2)2 − 9(−2) − 6 

  = 4 + 18 − 6 

  = 16 (Ans.) 

Q(x) = x3 + x2 − 6x 

  = x(x2 + x − 6) 

 R(x) = x2 + x − 6 

 R(x) 1 − 6 

 − 6 {1, 2, 3, 6} 

  R(1) = 12 + 1 − 6 = − 4  0 

 R(−1) = (−1)2 − 1 − 6 = −6  0 

 R(2) = 22 + 2 − 6 = 0 

  (x − 2), R(x) 

x2 + x − 6 

  = x2 − 2x + 3x − 6 

  = x(x − 2) + 3(x − 2) 

  = (x − 2)(x + 3) 

  Q(x) = xR(x) 

  = x(x − 2) (x + 3) (Ans.)

P(x)

Q(x)
 = 

x2 − 9x − 6

x3 + x2 − 6x
 

 x3 + x2 − 6x = x(x − 2)(x + 3) 

 
P(x)

Q(x)
 = 

x2 − 9x − 6

x(x − 2)(x + 3)
 

 
x2 − 9x − 6

x(x − 2)(x + 3)
 ≡ 

A

x
 + 

B

x − 2
 + 

C

x + 3
 ............(i) 

 (i) x(x − 2)(x + 3) 

x2 − 9x − 6 ≡ A (x − 2) (x + 3) + Bx(x + 3) + Cx(x − 2) ...(ii) 

(ii) x = 0 

−6 = A(−2)(3) + 0 + 0 

 − 6A = − 6 

  A = 1 

  (ii) x = 2 

4 − 18 − 6 = 0 + B . 2(5) + 0 

 − 20 = 10B 

  B = − 2 

  (ii) x = − 3 

9 + 27 − 6 = 0 + 0 + C(−3)(−5) 

 30 = 15C 

  C = 2 

 A, B C (i) 

x2 − 9x − 6

x(x − 2)(x + 3)
 = 

1

x
 − 

2

x − 2
 + 

2

x + 3
 (Ans.) 

 F(x, y, z) = (x − y)3 + (y − z)3 + (z − x)3

F(x, y, z) 

F(x, y, z) 

x − y = 
1

p
 , y − z = 

1

q
 , z − x = 

1

r
 

pq + qr + rp = 0 p = q = r

  37 bs cª‡kœi mgvavb   

F(x, y, z) = (x − y)3 + (y − z)3 + (z − x)3 

 F(y, z, x) = (y − z)3 + (z − x)3 + (x − y)3 

  = (x − y)3 + (y − z)3 + (z − x)3 

  = F(x, y, z) 

 F(z, x, y) = (z − x)3 + (x − y)3 + (y − z)3 

  = (x − y)3 + (y − z)3 + (z − x)3 

  = F(x, y, z) 

  F(x, y, z) = F(y, z , x) = F(z, x, y) 

 F(x, y, z)  

F(x, y, z) = (x − y)3 + (y − z)3 + (z − x)3 

 = (x − y)3 + (y − z)3 + (z − x)3 

 = (x − y)3 + y3 − 3y2z + 3yz2 − z2 + z3 − 3z2x + 3zx2 − x3 

 = (x − y)3 + 3z(x2 − y2) − 3z2(x − y) − (x3 − y3) 

 = (x − y)3 + 3z(x + y)(x − y) − 3z2 (x − y) − (x − y) (x2 + xy + y2) 

 = (x − y){(x − y)2 + 3z(x + y) − 3z2 − (x2 + xy + y2)} 

 = (x − y)(x2 − 2xy + y2 + 3zx + 3yz − 3z2 − x2 − xy − y2) 

 = (x − y) {3z(y − z) − 3x(y − z)} 





 = 3(x − y)(y − z)(z − x) (Ans.)

x − y = 
1

p
 

 y − z = 
1

q
 

  z − x = 
1

r
 

 

(x − y)3 + (y − z)3 + (z − x)3 = 3(x − y)(y − z)(z − x) 

 (x − y)3 + (y − z)3 + (z − x)3 − 3(x − y)(y − z)(z − x) = 0 

  



1

p

3

 + 



1

q

3

 + 



1

r

3

 − 3  
1

p
  . 

1

q
   

1

r
 = 0 

  
1

2
 



1

p
 + 

1

q
 + 

1

r
 












1

p
 − 

1

q

2
 + 



1

q
 − 

1

r

2 +  




1

r
 − 

1

p

2
 = 0 

  



1

p
 + 

1

q
 + 

1

r
 












1

p
 − 

1

q

2
 + 



1

q
 − 

1

r

2 +  




1

r
 − 

1

p

2
 = 0 

  
1

p
 + 

1

q
 + 

1

r
 = 0 

 
qr + rp + pq

pqr
 = 0 

 qr + rp + pq = 0 

  pq + qr + rp = 0 

 



1

p
 − 

1

q

2

 + 



1

q
 − 

1

r

2

 + 



1

r
 − 

1

p

2

 = 0  

0 0


1

p
 − 

1

q
 = 0, 

1

q
 − 

1

r
 = 0 

1

r
 − 

1

p
 = 0 

 
1

p
 − 

1

q
 

1

q
 = 

1

r
 

1

r
 = 

1

q
  

  p = q  q = r  r = p 

 pq + qr + rp = 0 p = q = r 

m„Rbkxj cÖkœe¨vsK DËimn 
 

 x P(a) = 2a3 + 2a2 + 3a + 1 

(2a + 1)

(2a +1)  

− 
1

4
 

 P(x) = 2x2 + 3 g(x) = y2−5y + 4 

P(5) 

g(y) (y − 4) P(5) y-

5x − 7

(x−1)(x −2)

‘y’ x  

P(5) = 53; y = 4, x = 2.05

 x (x + 3)(x2 − 9)(x3 + 27) (x4 − 

81) 

x3 + 27

x2 − 9
 

x − 3

x2 − 3x + 9
 

(x − 3)(I2 + 9)

x2 − 3x + 9
 

x + 
9

x − 3
 ;  

x3 − 2x2 + 9x − 17

x4 − 81
 

 P(x, y, z) = x3 + y3 + z3 − 3xyz 

  Q(x) = x R(x) = (x − 1)(x2 + 4) 

P(x) 

Q(x)

R(x)
 

x = b + c − a, y = c + a − b, z = a + b − c 4P(a, 

b, c) = P(x, y, z)  

(x + y + z) (x2 + y2 + z2 − xy − yz − zx); 

1

5(x − 1)
 − 

x − 4

5(x2 + 4)
 


y2 + y − 1

y3 + y2 − 6y
 

y + 3

 

0

y2 + y − 1

y3 + y2 − 6y
 = 

1

6y
 + 

1

2(y − 2)
 + 

1

3(y + 3)
 


x

3
 + 3x

2
 + 1

x
2
 + 2x − 3

 

x3 + 2x2 + 1

x2 + 2x − 3
 , x + 

3x +1

(x −1)(x + 3)
;

 
x3 + 2x2 + 1

 x2 + 2x − 3
  = x + 

1

x − 1
  + 

2

x + 3
  

 F(a, b, c) = (a − b)
3
 + (b − c)

3
 + (c − a)

3 

F(a, b, c)

F(a, b, c) = 3(a − b)(b − c)(c − a)

a − b = 
1

x
, b − c = 

1

y
  c − a = 

1

z
 

xy + yz + zx = 0  x = y = z

 P(x) = ax
5
 + bx

4
 + cx

3
 + cx

2
 + bx + a 





P(x)

x−1 P(x) x + 1, P(x)

(x − r), P(x) (rx − 1); P(x) 

5, a, ax5, a; 2(a + b + c) 

 F(a, b, c) = a
3
 + b

3
 + c

3 
− 3abc 

F(a, b, c) 

F(a, b, c) = (a + b + c)(a
2
 + b

2
 + c

2
 − ab − bc − ca) 

= 
1

2
(a + b + c){(a − b)

2
 + (b − c)

2
 + (c − a)

2
}

F 



1

a
 , 

1

b
 , 

1

c
 = 0 bc + ca + ab = 0 

a = b = c

 F(a, b, c) = (a + b)(b + c)(c + a) (a + b + c)(ab + 

bc + ca) = abc −

F(a, b, c)

F(a, b, c) 0

(a + b + c)
5
 = a5 + b5 + c5

 P(x) = 5x2 − 2xy − 3y2 

P(2, 1) 

3, 2; P(2, 1) = 13; (x −y) (5x + 3y) 

 x, y z F(x, y, z) = x3 + y3 + z3 − 

3xyz

F(a, b, c) 

F(a, b, c) = 
1

2
 (a + b + c) {(a − b)2 + (b − c)2 + (c − a)2}

a = y + z − x, b = z + x − y, c = x + y − z 

F(a, b, c) = 4F(x, y, z)

Aa¨vq mgwš^Z m„Rbkxj cÖkœ I mgvavb 
 



 

x + 1 

x + 3 

x + 4 

x + 2 

x − 1 

2x + 3 

x 

A B 

C 

U 

P(x) = 2x2 + 3x P(− 2)

x = 2 P(B)  P(A  B)

(x) = n (C  A  B) (x)

 − 1(3) = 0.

  50 bs cª‡kœi mgvavb   

P(x) = 2x2 + 3x 

   P(−2) = 2(−2)2 + 3 (−2) 

   = 24 −6 

   = 8 −6 

   = 2 Ans.  

B = (x −1, x + 1, x + 2, x + 3) 

 x = 2 B = {1, 3, 4, 5} 

  P(B) = {{1}}, {3}, {4}, {5}, {1, 3}, {1, 4}, {1, 5}, {3, 4}, 

{3, 5}, {4, 5}, {1, 3, 5}, {1, 4, 5}, {3, 4, 5}, {1, 3, 4, 5}, } 

 A  B = (x + 2, x −1} 

 x = 2 AB = {4, 1} 

  P(AB) = {{4}, {1}, {4, 1}, } 

  P(B)  P(AB)

n(C A  B) = 2x + 3 

  (x) = 2x + 3 = y

2x = y −3 

 x = 
y −3

2
  = −1(y)  

  −1(x) = 
x−3

2
   

  −1(3) = 
3−3

2
 = 

0

2
  = 0 

  −1(3) = 0 

x1, x2  

 x)  x1) = x2) x1 = 

x2 

 x1) = x2) 

  2x1 + 3 = 2x2 + 3 

  2x1 = 2x2 

  x1 = x2 

  (x) 


